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0% 1 
P.0.Box 159, 
PLATWAL. 0304. 

OONSTFTUTIONAL'”d February 1995. 

The Chairperson 
The con-titutiox’:al Assembly, ASSEMBLY 

g;géng’;wxlx?'aooo. 16 FEB 1995 001505 

Dear Sir/Madam, 

The concept of one-man-oné-vote has*wmerit in that it 

gives every citizen of the land the satisfaction that he/she has had a 

. say in electing the government of the day. Ideally this applies to 

first world countries, but is totally unsuited for a country with such 

a diverse cross-section of people as South Africa. 

Taking into account the ratios involved, it is ridiculous, 

that a university professor’s vote carries the same value as that of a 

street-sweeper. Likewise a person who has invested his/her life 

savings in a home or business cannot be expected to vote on a par with 

a shack-dweller who has simply occupied land without any capital 

outlay. 

A system of qualified franchise must be included in 

the Constitution in order to create a balance of values and eliminate 

unrealistic promises made by unscrupulous politicians. Anyone with 

nothing to lose will vote for that party which offers him/her 

everything on a plate, whereas the person who has made a contribution 

to the country will consider all the options before making their 

choice. 

In order to qualify for additional votes a citizen 

would have to prove his/her right to these by submitting whatever 

criteria are set out by yourselves, to an official appointed to this 

task. The level, depending on a the standard set, could go from 1 for 

the lowest category to 10 for the highest category. The number of 

votes allocated would be stamped into their I.D. book. This proof 

would then be presented in the normal manner at the polling booth. 

At the polling station there would be different colour 

ballot papers for each category which will be issued to the voter 

according to his/her vote entitlement. He/she would then make only one 

cross. When it came to counting, these would be arranged by colour and 

the total simply multiplied by the number dedicated to that colour. 

This proposal is not an attempt to disenfranchise the 

disadvantaged but a means of ensuring that an economically stable and 

balanced government is elected which will be to the benefit of the 

country as a whole. 

  

C.R.L.Davies. 

  

 



  

34 Klipvank Road 
LADYSMITH 

3370 

24 January 1995 

The Executive Director 
Constitutional Assembly 

Dear Sir 

May | suggest the following : 

1. In order for a person who is eligible to vote in the national (general) 
elections, they are to have a tax clearance number. That is whether they 
are eligible to pay tax or not, they must still be processed in order to obtain 
a voting number. 

2: In order to vote in local government elections, eligible voters must have a 
clearance number showing that they have paid all dues owing (rates and 
taxes etc.) 

3: The government should supply birth control methods free to all families. 

4. Thereby implementing a control of the size of families - say having more 
than two children or anymore if at present they have more than two 
children, to have to pay a tax on each additional child. (say R100 per child 
per year)? 

Thus giving the country a chance to recover its resources. (It works in 
China). 

5. Pensioners should not have to pay taxes. 

Remember most of Africa is bankrupt, only because nobody pays taxes. 

Think ahead 

Yours faithfully 

A. DUVENAGE 
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University of e 
. FAX: (031)820-2383 

DUI‘baI%WCStVIHC ® (031)820-9111 

CONSTITUTIONAL 
ASSEMBLY 

The Constitutional Meeting 
enLis 17 FEB 1995 

Cape Town 

12 February 1995 

001519 
Dear Legislators 

Enclosed please find a copy of a booklet of mine, namely, The Mathematics of Voting, 

which compares many different voting systems, showing the advantages and 

disadvantages of each. You may find it interesting and useful in your important task 

of deciding on the future constitution of South Africa. Please also note the photocopy 

of an article I wrote for Finance Week, 24-30 March 1994, showing a drawback of the 

apportionment method which was chosen for the interim constitution and 

suggesting an alternative one. 

Best wishes with your important endeavour. 

Yours sincerely 

Prof Michael de Villiers 

Mathematics Education 

  
 



A QUESTION OF FRIRNESS 
How SAs legislators have chosen the wrong method 
of apportioning seats under the Interim Constitution 

ninteresting mathematical poblem with 
the s propational represnvation (PR) 

chosen for the new SA is determining the 
‘apportionment’ of available seats 10 the 

  

different pates, according 1o the proportion 
‘of vores they each gain. 

“The problem is that ividing the nuraber 

  

of avalabl seat according to the proporton 
of votes gained may not necessarly yield sn 
integral number of seas 1o each party. In 
such cases how is & fair apportionment of 
seats made? 

The following article presents 1wo 
‘mathematicl critria for judging the fimess 
of the appovtionment of seats. Using these 
crteri the method sdopied in the Interim 
Constituion i criicised and an ahemative 
‘method proposed. 

[ e Consmio for e gnes 
election of April 2729 the following 

apportionment method has been legistaed: 
1 For the ppose of filling the twa 

Mundred sears in the National Assembis. the 
10tal mumber of votes cast in the general 
election shalt be divided by mo hundred and 
the resul shall be the quora of votes per seat. 

4. The total number of votes cast in 
favour of a registered parry, shall be divided 
by the quot of votes per seat and the resul 
shall, subject to item S. determine the 
mumber of seats allo ated 1 tha party 

S Where the formula set out in tem 4 
yields a surplus fraction not absorbed by the 
number of seats allocated 1o the pary 
concerne* uch surples shall compete with 
other similar surpluses accruing 10 any 
party or puries, and any undisributed seat 
or seats (in terms of the formula set ot in 
item 4) shall be awarded 10 the parry or 
parties concerned in sequence of the highest 
el (D Comsitsion.Nov 17199, 

‘The apportionment of the 700 seats of the 
National Assembly from regional party lists 
s described in a similar fashion. 

The proposed method in the Interim 
Consituion i referred 1o in the literature 35 
Hamilion's method. the Vinion method or 
the method of “greatest remainders” 
s best known as Hamilion's method. 

  

  

" 

after Treasury Secretary of the American 
Congress Alexander Hamilton who first 
propoed this method in 1792 for congres- 
sional spportionment of sets 10 the diflerent 
American saes. It was vetoed by President 
George Washinglon a the time nd was not 
wsed for its original purpose until the period 
1850-1901. Todsy i is found in PR systems 

     

  

  

  

fraction (0.319) is thus allocated an 
‘aitonal sea.for  otal of 4. 
Now imagine tht te sirs ef the bouse in 

the five-party exumple i incicaved from 26 
10 27, and do the calculation again by the 
Hamilton method (able 2). 

In the 27-seat house, parties A, 
and E ase now respectively allocaied 9. 
3 and | seas. Bur, paradonical .km.,h 
acither the total mumber of voters nor the 
propontion of votes for pary D has changed. 
D ow has fewer seats in  larger house! 

“This troubli 

  

cn   

  

  

in Couta Rica, Switzerland and for the 
federsl parts of Sweden's one house. 

I works as follows. Each poliical panty 
i first alocated a number of seats equal 0 
the integrl pant of its ideal representation. 
the fractionsl part being discarded. So. if 
party A it ideally entitied 10 .67 seats, it is 
fies allocated 3 seats. 

“The number of sests allocated o al the 
paries i then totaled. and if the tonl falls 
short of the designated house. then the house: 
is filled by allocating additional seats in 
descending order 10 the parties from 
the Largest 0 the smallet discarded fraction 

As 1 simple illustration of Hamilion's 
method, see table 1. showing the results of 8 
fictitious election with five parties and the 
number of seats each should receive in 8 
house of 26 seas. 

Initally parties A, B. C. D and E are 
respectivelv stiocated the following sems: 9, 
7.5, 3 and 1. B his accounts for only 25 of 

Party D, having the highest 

      

    
  

  

  

n some calculations in that state. 
“The frequent occumence of his paradox 

b the congressional apportionmen of the US 
ventually led 1o the o 
lamilion's method. 

‘One may, perhaps. smagly respond by 
ying: “So what? The number of seas in 
Natonal Asserbly has been fvd at 400 
o thatparsdos can never occur e 
But such a response exhibis pol 

ivete, since it is conceivable that SA's 
sional Assembly will have 1o be expanded 
the future 10 keep track of an ever-grow- 

# population, eg if the ratio of Assembly 
presentatives Is 10 be melnained constant 
the total population. 
o sddoion, Homibon's method viclates 

jonment of 

  

   

  

  

     

ther more serious criterion of faimess, 10 
discussed below. 

One criterion of eval faimess in PR 

that of queta For example, if 8 party has 
t ideal number of 6.71 seats it should 

  

ceive no less than six and no more than 

Finonce Woek March 26.30 1994   

seven seans in the fimal sllotment. It is not 

difficult to prove mathematically that 
Hamilton's method will sways sasly quots. 

Another, more significant criterion of 
fairness is that of consistency with any 
changes in the elsive proportion of the vote 
asize of the Assembly. One way 1o schieve 

uire that if party A's idesl 
Increases and party B's 

  

   
decreases, them party A should gt no fewer 
se2s nd party B move. 

As we have seen, Hamilton's method 
violates this criterion of comsistency. 

policiens and poftical puties 
i nd 

  

eriterion of consistency, that no 
Nowment method ci sways sy he e 
comistency and quota 

we must saifce the principl of siaying 
within quots, or the possibility of consi- 
ey paradones mwst be accepeed. So which 
i the berier choice? 

‘Balinski and Young argue for avoiding 
conisiency paradores rather than always 
staying within the quota. They have 
fonhermore 

  

proved that only the so-called 
“divisor methods" will slways svoid con- 
sisency paradoes. By comparing variows 

   

  

     
divisor methods, they have concluded that 
the so-called Webster's method is not only 
Teas likely 1o violate quota but also surs 
very near 10 it when it does. Additionall. 
Webster's method is th, only divisor method 

that s nbissed to the relative sizes of te 
paries. 

ebter's method is named afer Danicl 
Webser who proposed it in the LS 

Congress. It s been reinveated in ocher 
ises 30d is o known as the ‘method of 
odd numbens’ or the “Sainte-Lagut” method. 
it vied today for PR in Deamark, Sweden 
and Norway: i has been recommended by 
Reynolds for use in SA (see A Reynolds. 
Voting fcr & new South Africa, Maskes 
Miller Longman, 1993). 

Websier's method cals for finding the 
argest ivisor when divided ino the number 
of vores of each party which would respec- 
tively yield members for each party. whea 
rounded sccording 1o standard conventions 
(ie down for fractions o less than 0.5 and wp 
for fractions of 0.5 and above), sum 10 the 
sire of the Assembly. 

‘Consider the application of this method 
for the howse site of 26 (able 1). Say we 

  

  

   
  ‘choose 3 divisar of 1000, then we obuain: 

611000 =906 rownds ol 09 
NHID =11 rowndsoff 07 
W0 =3I rowdsofiioS 

    

  

       

  

DI +3 b of 
181000 LIl oad oo | 

Siace the swsbers on the right enly sum 
10 25, we therefore have 10 look for a divisor 
smaller than 1000 10 obtsin the desired sum 
of 26. 1t urns ost that 957 is the greatest 
(imieger) divisor at prodces a s of 26, 
for example: 

  

The last colurmn s therefore the Webvier 
allotment. Althowgh the method may a first 
glance seem tedious, it is simple 1 do the 

   Hamiloa's 

method as briefly outlined bere, it is 
someihing of a mystery how i came 1o be 
chosen for SAs Interim Cousuitation. It 
would appear that the legislators involved 
did ot bother 1o consult the relevant and 
‘extensive literanre in thes area. 

Webster's method avoids these 
is recommended that it replace 

Hamilion's method in the new Constintion 
10 be drawn up afer the April clections. 8 

  

    

  

  

  

Discipline 
North deals 
Geme all 

*AT2 
YKQJI109876 
*A 
*A 

Ar11094 4Q65 
WAS v: 
*72 €Q109865 
#9765 432, 

*83 
v43 ] 

*KJ64 . 
#KQli08 

The bidding: 
North East South West 

24 pass e pass. 
3v past 4 paw 
av pass pass  pess   

  

dis 
in p-m.mn p trust and understanding 

  

grammed monster was picked 
up by North in March’s Sandringham 
pairs toumament, With the potential of 
small and perhaps grand slam in the 
combined hands, he opened  forcing 
two clubs. Partner's response of three 
in that suit showed siam interest with 
clubs providing trcks. 

After North's three hearts, South 
pressed further with four 
North care much for 
partner’s responses and with what 
appeared 1o be no definite entry to 
dummy for discards (aces are nice, but 
how can you get across the table with 
only singletons in partner's suits?). 
settled for a very conservative four 
hearts. 

‘South went into the tank but, much 
10 her credi, reasoned that her partner, 
knowing her responses were positive, 

      

  

       
had seftled for game only, s0 game only 
beit! 

East got off 10 2 wemendous lead, 8 
trump. When dummy was spread de- 
clarer smiled. His caution was vindic 
ted. West 100k the 
returned another. and the 
waited 10 collect another two icks. 

They thought they had performed 
brilliantly, and they had, but much to 
their chagrin, each. of the other five 
declarers were in slam going off, some 
one, others two. 

Discipline earned North-South 
well-deserved top! 
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A QUESTION OF FAIRNESS 
How SA’s legislators have chosen the wrong method 
of apportioning seats under the Interim Constitution 

 interesting mathematical problem with 
the list proportionsl representation (PR) 

chosen for the new SA is deermining the 
‘spportionment” of availahle seats 10 the 
diflerent pares, according 10 the proportion 
of votes they each gain. 

‘The problem is tha dividing the number 
of available seats sccording 10 the propontion 
of vores gained may not necesanly yield sn 
iniegral mumber of seas 1o each pary. In 
such canes how is 4 fair apportionment of 
seats made? 

The following ariicle presents two 
mathematical criteria for julging the fsimess 
of the apportionment of sears Using these 
criteria the method adopred in the Inerim 
Consttution i critcised and an aliemlive 
‘method proposed. 

ln the Interim Consiitution for the general 
lelection of April 27,29 the following 

apponionment methd has been legisisied 
3 Yoo the puepoe of filling the o 

Mundred seats in the Natol Aveembly. the 
1otal number of votes cast in the general 
election shall be divided by mo hundred and 
the resul shall be the quoua o votes per seor 

4. The to1al number of votes cast in 
Javour of a registered parry, shall be dirided 
by the quota of votes per seat and ihe resul 
shall, subject to item S, determine the 

mumber of seats allotated 10 that parry 
S Where the formula set out in item 4 

yields a surplus fraction not absorhed by the 
number of seats allocated o the porn 
concernd * vwch surptes shall compeie with 
other similar surpluses accruig to amy 
party or purties, and any wndusiributed seot 
o seats (in terms of the formala set out 
item 4) shall be awarded 1o the party or 
parties concerned in sequence of the hughe 
surplus. (Draft Constiution, Nov 171993, p 
144 

‘The apportionment of the 200 seats of the 
National Assembly from egional pany lsts 
s described in o similar fachion. 

The proposed method in the Interim 
Constitution is refermed 10 in the lierature a5 

Hamilion’s method, the Vinion method or 
the method of “gresiest remainders” 

I is best known as Humlion's method, 

  

      

          

   

  

  

alter Treasury Sectetary of the American 
Congress Alexander Hamilton who first 
proposed this methou in 1192 fon conres 
svonal appotionment of seat 10 the diflerent 
American sates. |t was vetoed by President 
George Washingion ot the time and was not 
wsed for it original purpose wniil the period 
1850 1901 Today it 1 found in PR sysiems 

  

fraction (0 119) is thus allocated an 

tional seat. for a waal of 4 

Now imagine thzt the sir of the Fruse in 
the five paty exmple i increaved from 26 
10 21, and do the calculation again by the 

    

  

Hamilion method (uble 2). 
In the 27-seat house, paries A, B. C. D 

and E we now respectively aflocsied 9. 8. 6, 
3 and 1 sens. But, paradosically. alihough 
ncither the total member of voters nor the 
proponion of vores for pany D has changed., 
0 o has fewer seas in 8 arger howse! 

This troubling parados s called the 
Alshama ,-.a.- Waving firs been etected 

  

  

  

  

Covia Rics, 
federal pans of Sweden's one house 

I works o8 follows. Each polical party 
i first allocted 2 oumber of seas equal to 
the iniegral pan of s idesl representation, 
the frsctional part bemg discarded So. if 
party A s ideally endied 10 )67 seats. i 18 
fusalkwned Vaears 

The number of seats allocated to 3l the 
parties is then totaled. and if the woual falls 
short of he esignated house. then the house 
is filled by allocating additional seats in 
descending order 10 the parties from 
the Largest 10 the smallest dscarded fraction 

As & simple illosration of Hamiisn's 
method, se table 1. showing the results of & 
fictitious election with five paries and the 
number of seais each should receive in & 
Pouse of 26 seas 

Initially parties A. B. C. D and E are 
respectivel sllocaied the following seaty 9, 
1.5, Jond 1 Be. his sccounts fox only 33 of 
the 26 seats Party D, having the highest 

o u~r\(¥ 7 
<Eleclions or' house 1 
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  AT 
n some calculations in that state. 

“The frequent occurrence of this paradox 
4 the congressional spportionment of the US 
ventually led to the sbandonment of 
lamilion's method. 

One may. perhaps. smugly respond by 
ying: “So what? The number of seats in 
National Asse=bly has been fived at 400 

30 that paradon can never oxcur here ™ 
But such & response eshibits political 

daivete, since it is conceivable that SA's 
imtional Assembly will have 10 be expanded 
the futue 10 keep track of wn ever grow. 
't populstion, eg if the ratio of Assembly 

presentaties is 1o be maintained constant 
ihe total population. 

1 In addiion, Hamihon's meihod violaies 
ther more seriows criterion of (3imess, o 

discwased below. 

One criserion of evalusting fimeny in PR 
that of quove. For example, if 8 pary hay 

In ideal number of 6.71 seats it should 

eive 0 les thaa six and mo more than 
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seven sean i the fimal allotment. It is not 

&fficult 10 prove mathematically that 
Humdton's method will shways sainly quons, 

Anober, more significant criterion of 
frirwess ls ot of consisiency with say 
hanges it rlaive proportion of he vete 
o sie of the Asscmbly. One way lo scheve 
s is to require that if party A's desl 
mamber of seats increases and party B's 
deceases, e paty A should ge o fewer 
5226 and puty B move. 

As we have sees, Hamilton's method 
critetion of consistecy. 

      

will be defighed to leam that Balinshi and 
Young demonsirated in 1982, using the 
eriterion of consistency, 
tioament method can always satisly the 
comsistency and quots requirements. Thes 
we we faced with the conclusion that there i 
30 perfect apportionment method. 

Some compromise has 10 be made. Either 

e must sacrifce the principle of staying 
within quots, or the possibility of comsis 
tency paradescs mwt b accepeed. So ahich 
i he bever choice? 

Balinski and Young argue for o 
consistency paradones rather than slways 
staying within the quota. They have 
furthermore proved hat only the so.called 
“divisor methods’ will slways avoid con- 
shency paradores. By comparing variows 

    

  

  

  

divivor methods, they have cuncluded that 

the s0-clled Webster's merhod i mot omly 
Teast likely w0 violase qzota but also suary 
very wear 1o it whe i does. Additionall 
ek’ mebod b ¢ aky v mcbd 
that is wbised 10 the relative sizes of de 
ponies. 

WA ol s mamed s Dwid 
Webser who proposed it in the LS 

Congress. It has been reinvented in otber 
viscs wnd 8 aso known a3 the "meibod of 
odd mumbers” o the *Sainte-L3gut” method 
1is wsed today for PR in Denmark, Sweden 
and Norway; it hay been recommended by 
Reynolds for use in SA (see A Reynolds. 
Voting fcr & new South Africa, Maskes 
Miller Longman, 1993). 

Webster's method calls for finding the 
Tagest divisor when divided im0 the number 
of votes of exch party which would respec 
tively yield mumbers (or each party. when 
rounded sccording 10 sandard convenuons 

¢ dowen for fractions ofles than 0.3 and wp 
for fractons of 0.5 and abore) sum 1o de 
size of the Assembly. 

‘Consider the application of this meshod 
for the howse size of 26 (1able 1). Say e 
choose a dirisorof 101, then we obuain: 
UI0 =908 rowmh ofl 109 
TIHIO0 =71 roundsoflio 
LMD =329 e oflio 3 

  

MY @) )9 ruab o) 
W0 e LIt e | 
Siace the susbers on e righ ony sum 

1025, we thereore e 10 ok for 8 divisor 
smaller then 1000 te obtain the desired som 
of 26. It verms out that 957 is the grestest 
(inueger) divisor at prodeces & s of 26, 
for example: 

=968 rowns o 9 
1501 roweh 
#3495 munds ol 10§ 
3488 rownds off 10} 
=113 rwnd off 0 | 

The las columa is therefore the Websier 
allotmen. Alihoueh the method may u firt 
glance seem tediows, it is simple 10 do the 
calculation by calculator or comy 
Perhags more importa ly o be as 
easily undersood by the gesenl voter s 
Hamion's meshod 

Given the senous Mlans ia Hamilton's 
method as briefly outlined here. it is 
something of a mysiery how i came 1o be 
chosen for SA's Interim Coustitetion. It 
would appen tha the legistaor iavolved 
d1d non Bother 10 consult the relevamt nd 
extensive leranure in s area 

Since Webster's meihod avoids these 
recommended that it replace 

's method in the new Constinuion 
10 be drawn wp afer the April checoons. 8 
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YKQI109876 
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*A 
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Alundwnlnl aspect of bridge is 

scipline, not only in bidding but 
in partnership trust and understanding 
s well 

The dingrammed monster was picked 
up by North in March’s Sandringham 
pairs toumnament. With the potential of 
small and perhaps grand slam in the 
combined hands, he opened s forcing 
two clubs. Partner’s response of three 
in that suit showed siam interest with 
clubs providing ricks. 

After North's three hearts, South 
pressed further with four 
North didn't care much for 

tner’s responses and wil 

appeared 10 be no definite entry 1o 
dummy for discards (aces are nice. but 
how can you get across the table with 
only singletons in pariners suits?). 

for a very conservative four 

  

    

   
     

    

  

South went into the tank but, much 
10 her credi, reasoned that her pariner, 
knowing her responses were positive,   

had settled for game only. so game only oy 

  

East got off 10 8 tremendou lead, 3 
trump. When dummy was spresd de 
clarer smiled. His caution was vind 
ted. West took the ace of trumps 
returned another, and the defence 
‘waited 10 collect another two rcks, 

They thought they had performed 
brilliantly, and they had, but much tn 
their chagrin, eauh of the other five 
declarers were in slam going off some 
one, others two. 

Discipline earned North-South » 

      

   

well-deserved op! 

et weuk's calondr 
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JOC: Par gaded 3 A 
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Dedication 

To the memory of Upton Shandu who was tragically killed in his 

flat in Esikhawini on 29 July 1993 by (as yet unknown) assailant(s). 

He will be remembered for his input in the TV series "Maths-No 

Problem" as well as many other contributions to Mathematics Edu- 

cation at a regional and a national level. He will be sadly missed by 
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"If time permitted I could prove that there are ... as many (methods) as there are fractions 
between zero and one." - Walter Wilcox 

"A man may be very sincere in good principles without having good practice." - Samuel Johnson 

Introduction 

On 27 April 1994 a much-awaited historic event is scheduled to take place in South Africa, namely, 
the first fully democratic elections. It might therefore be of particular interest and importance for 
mathematics teachers and pupils to look at the mathematics of voting at this point in time. In a 
modest way, it is hoped that this could positively contribute to the general voter education of our 
nation. 

The purpose of this article is to demonstrate the application of mathematics to political science, 
and thereby challenging the stereotype that mathematics is of value only in certain applied 
sciences like Physics, Chemistry, Computer Science, etc. It is aimed at the high school level and 
mainly involves elementary mathematical concepts such as percentages, fractions, integers, etc., 
although more challenging modelling exercises involving algebra and computer programming are 
also provided. 

The reader should work through the exercises to gain maximum benefit from the discussion in 
the text. Answers to the exercises are provided at the back. 

Some election results 
In Table 1 the results of two elections are shown (from Malkevitch, 1985:1). In the second case 
the candidate everybody thought the least likely to win was the eventual winner {prevailing opinion 
polls suggested this candidate was the least popular). How could so many people be mistaken? 
Why does this phenomenon sometimes happen? 

1968 (Senator: New York) 
(Expected winner) = Javits 1902 986 (winner) 

ODwyer 1333362 
Buckley 629944 

3 866 292 

1970 (Senator: New York) 

Goodell 1434472 
(Expected winner) Ottinger 2171232 

Buckley 2288190 (winner) 

5893 894 

Table 1 
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Let us brietly review the procedure used to elect the candidate in Table 1. Each voter cast a vote 

. for his/her favourite candidate. The votes were then counted, and the candidate with the largest 
number of votes was declared the winner. This method of choosing as the winner, the person with 
the largest number of votes, is called the plurality method. (There is the possibility that an election 
could result in a tie but with a large number of voters this is not very likely). 

Surely, you may ask, there is nothing wrong with this procedure. Isn’t that what democracy s all 
about? Allowing each voter to select his/her favourite candidate and choosing the one with the 
most votes? Doesn't this procedure ensure the selection of the "choice of the people?" 

However, closer analysis reveals that the surprising win of Buckley was due to the fact that the 
political views of Goodell and Ottinger were very much alike. It is therefore quite conceivable 
that Ottinger’s supporters would have voted for Goodell had Ottinger not been a candidate. 
Similarly, Goodell’s supporters would probably have voted for Ottinger had Goodell not been a 
candidate. Had Buckley therefore stood in a two-way race against either Ottinger or Goodell, it 
is conceivable that he would probably have lost. So here we have the paradoxical situation of a 
weaker candidate only representing 39% of the votes emerging as the unexpected winner, since 
the majority view of 61% was split up amongst the other two candidates (24% and 37% 
respectively). 

Another example, this time from South Africa, is given in Table 2 (data supplied by Dirk Laurie, 
Dept of Mathematics, Potchefstroom University). Here we find that the National Party candidate 
won with only 39% of the votes in a clearly conservative constituency with the CP and HNP 

  

splitting 61% of the vote. 

1987 (MP: Hercules) 

National Party 6114 (winner) 

ConscrvativeBerty B 
Herstigte National Party 4123 

15490 

Table 2 

(Note: the term "voters" will henceforth be used to refer only to those who actually voted, and not 
to all eligible voters). 

Exercise 1 

(a) With 1 000 voters and the plurality method of voting what is the smallest percentage of the 
total vote that is sufficient to elect a candidate if there are three candidates? Four candidates? 
Five candidates? Ten candidates? Comment on the desirability of the plurality method in such 
cases.   
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(b) Consider a situation with m voters and n candidates. If we define a function INT (x) such that 

the INT (x) of any real number x is the largest integer smaller than or equal to x (e.g. 

INT (3,7) = 3; INT(3) = 3), write a formula for the smallest percentage of the total vote that 

is sufficient to elect a candidate using the plurality method. 

Perhaps you are now having a few doubts as to the fairness of the plurality method even though g 

itis still widely used in many countries, for example, Britain and in countries historically influenced 

by Britain, such as the USA, New Zealand, Canada, India, and the (past) white electoral system 

in South Africa. If the plurality method is unfair or undemocratic, why is it used? Are there any 

other alternatives? 

The answer to the first question is that a paradoxical situation like those in Tables 1 and 2 can 

only arise when there are 3 or more candidates. If we are dealing with only two-candidate 

constituencies, then the plurality winner clearly represents the majority choice. In other words, 

the plurality system or method works quite well in two-candidate constituencies, i.e. in countries 

with two-party systems. However, the problem arises when there are more than two candidates 

or political parties involved. 

Given the plethora of divergent political views in South Africa represented by at least eight major 

role players such as the ANC, Azapo, CP, DP, IFP, LP, NP, PAC and others, it speaks for itself 

that plurality does not appear to be an appropriate system. In fact, this system has not been 

seriously proposed by any party or political scientist for our new constitution (compare Reynolds, 
1993:25). 

What are the alternatives to plurality? The fact is that there are so many alternative systems that 
the real problem is: how does one choose among them? What are the advantages and disadvant- 
ages of these different systems? 

In what follows we will only look at some possibilities and illustrate how mathematics can help us 
analyse and compare them. To start with, it is important to distinguish between two aspects of 
any election, namely, 

1. the way in which the votes are cast (the ballot) and 

2. the way in which a winner is chosen (the election decision). 

Types of ballots 

Instead of a voter just marking his/her favourite choice as in a standard ballot, a voter could rank 
candidates from most preferred to least preferred (by, for instance allocating numbers 1,2, 3, ... 
etc.). In other words, for each voter one could draw up a preference schedule as shown in Figure 
1a if s/he prefers A to B (or C) and prefers B to C. The preference schedule shown in i-‘igure 1b 
means that the voter prefers A to B or C but is indifferent between B and C. 
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Figure 1 

Note that in a standard ballot if a voter has either the preference schedule in Figure 1a or 1b, s/he 
would cast a vote for A. However, potential information that could be valuable is being lost in the 
standard ballot. 

If a voter ranks candidates by simply indicating his/her relative preference of candidates in order 
.of merit without specifically indicating the extent to which one candidate is preferred to another, such a ballot is called an ordinal ballot. However, suppose a voter prefers A to C only a little bit but Cto B a lot, a voter may for instance on a scale of 1to 10 (low to high) rank candidates as 
shown in Figure 2. Such a ballot is called a cardinal ballot. We will however not further on discuss this latter type of ballot, although the reader is obviously free to pursue the design of election 
systems based on this type of ballot. 

A(10) 

co) 

B(2) 

Figure 2 

Exercise 2 

(a) If a voter is never indifferent between candidates, how many different preference schedules 
are possible for three candidates? Four candidates? Five candidates? n candidates? 

(b) If a voter is indifferent between candidates, how many different preference schedules are possible for three candidates? Four candidates? What do you notice? 
(c) Comment on some possible disadvantages of using ordinal or cardinal ballots. 
Ordinal ballots are used extensively in Australia and to a lesser degree in the Republic of Ireland, Malta and Tasmania. Ordinal and cardinal ballots are often also used in consumer or other surveys, and for the election of officials in clubs and societies. 
At present it seems that none of the parties at the negotiating table in Kempton Park are Pproposing an ordinal or cardinal ballot for the new constitution. It seems that the main argument 
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advanced against their use is the high level of illiteracy and innumeracy. But Reyno]ds (1993:64) 

responds to this argument as follows: 

"There are strong arguments that the concept of a preferential order is a well established principle 

especially in black families. Traditional extended black families are to a certain degree hierar- 

chical and ordered. 

Everyday life in South Africa offers us examples of items being listed with numbers from the top 

to the bottom. A football supporter will know that the ‘Swallows’ are in fourth place in the 

league, the ‘Kaiser chiefs’ are just above them in third, the Jomo Cosmos’ team is second and 

the ‘Orlando Pirates’ team is at the top in the first place. 

It requires no great leap of sophistication to transfer this logic to a ballot paper ... There is a 

grave danger in underestimating the South African people.” 

Types of election decision procedures 

In this section we will investigate election decision procedures based on ordinal ballots. For the 

sake of simplicity we will assume that they were all produced without indifference. The result of 

a fictional election result with a total of 26 voters (from Malkevitch, 1985:13) is shown in Figure 

3: 

A B C D 

B C B B 

C D D C 

D A A A 

8 S5 6 7] 

Figure 3 

Plurality decision procedure 

To decide the results of the election in Figure 3 using this method we simply add the number of 

first place votes of each candidate. (This procedure is equivalent to using the plurality method 

with the standard ballot described earlier). For example, the number of first place votes for A, B, 

Cand D is respectively 8, 5, 6 and 7. Therefore, according to this method A would be the winner. 

Run-off decision procedures 

If one candidate does not obtain a majority of the first place votes, we could eliminate all the 

candidates cxcej)t the top two first place vote getters, and hold an election between the remaining 

two candidates. An advantage of the ordinal ballot is that voters need not go to the polls a second 

time, as this information can readily be extracted from the preference schedules. 
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s s g “,7 n; Wodie diclelule nave a run-ott between candidates A and D since they were the two highest first Place vote getters. By scratching the other two candidates, the new preference schedules would look as shown in Figure 4. 

  

Figure 4 

In the second and third preference schedules the votes of the Ppeople who respectively wanted B and Cas first choices (and Cand B as second choices) are transferred to D as their third choice. Therefore, D would getatotal of 18 votes, as opposed to the 8 of A, and be declared the winner. Another variation is the Sequential run-off procedure. It works as follows: Based on first place votes, eliminate the lowest vote getter. Now hold a new election on the remaining candidates. Repeat the process eliminating one candidate at a time until a single victor emerges. 
In our example in Figure 3, we would for instance first eliminate B, the lowest first place vote getter, to obtain the preference schedule shown in Figure 5. Therefore, A, C and D will respectively get 8, 11 and 7 first Place votes, which means that D is next climinated. This gives us a run-off between A and C, with C emerging as the eventual winner with 18 votes against the 8 of A. 

A C C D 
C D D Cc 
D A A A 
8 5 6 7 

Figure 5 

pair of decision options is considered and a vote is taken; then, the winner is paired with another option for another vote. This procedure of pairing and voting continues until a final winner is 

Toiillustrate this method consider again the preference schedules in Figure 3. Suppose two names are randomly drawn from a hat. Let’s suppose the first two selected are C and D, then from the 

  

15   
  

 



  

preference schedules in Figure 3, it should be clear that C would be the winner with 19 votes as 

opposed to the 7 of D. Suppose A is next drawn from the hat and paired with C. Again C would 

emerge as the winner with 18 votes as opposed to the 8 of A. However, if we now pair C off with 

B, the last remaining candidate (or option), B emerges as the winner with 20 votes as opposed 

to the 6 of C. 

Exercise 3 

(a) Suppose when using a sequential pairwise run-off, A and B were first paired off, then the 

winner thereof against C, and lastly the winner thereof against D. Would B still be the winner? 

Investigate some other possibilities as well. 

As shown in the preceding discussion, we obtained four different winners from the same election 

by the application of four different election decision procedures. Which winner is the "best" 

choice? 

Consider again Figure 3. Although A is the plurality winner, it should be noted that s/he is the 

least popular candidate of all voters other than those who voted for A. Candidates D and C are 

the respective winners of the standard and sequential run-offs, but generally do not have a lot of 

support. A careful study of the preference schedules shows B is the first or second choice of every 

voter. It would therefore seem that B, as chosen by sequential pairwise voting is a good choice as 

a compromise winner. Is the sequential pairwise run-off procedure therefore the "bes"? 

Exercise 4 

(a) If there are n candidates in a sequential run-off, how many times would the lowest vote getter 
have to be eliminated to arrive at a winner? 

(b) If there are n candidates in a sequential pairwise run-off, how many times would they have to 
be paired off to arrive at a winner? ; 

A C B 

B A D 

D B C 

C D A 

1 1 1 

Figure 6 

(c) Consider Figure 6. Suppose it represents the preference schedules of the president, vice-presi- 
dent and secretary-treasurer of the student council of a high school, regarding the selection’ 

* of the "Member of the Year", namely, the non-executive member of the student council who 
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contributed most to the student council during the past year. 

(i) Is there a plurality winner? 

(i) Is there a winner for the standard or sequential run-off procedure? 

() Consider again Figure 6 with a sequential pairwise run-off procedure. 

(i) 'Who would be the winner if A s first paired off with B, then the v;inner is paired off with 
G, and the winner of that pairing is paired off with D? 

(i) Who would be the winner if D s first paired off with C, then the winner is paired off with 
B, and the winner of that pairing is paired off with A? 

(iii) The order of pairing off and voting between candidates is called an agenda. Can you find 
an agenda that leads to the selection of C? 

(iv) Canyou find an agenda that leads to the selection of B? 

The exercise in (c) above highlights a problem of any voting procedure, namely: that in some 
cases one may not be able to determine a unique winner or a winner at all. The exercise in (d) 
shows that in some cases with a sequential pairwise run-off procedure, the agenda rather than 
voter opinions, could determine the final decision. (The influence of the agenda in such cases is 
called the agenda effect). 

Are there other election decision procedures available which will select B as the winner in the 
fictional election in Figure 3, but does not run the possible danger of the agenda effect? 

Condorcet’s decision procedure 

The Marquis de Condorcet, an 18th century mathematician, philosopher and political analyst, 
proposed the following means of deciding elections: 

"Each pair of candidates should be considered in its own separate election and the winner 
determined. If one candidate emerges as the winner over all the others in these separate two-way 
contests, then that candidate is the voters’ preferred choice." 

Consider again the election in Figure 3 and the results of the six two-way contests, namely: A vs 
B;AvsC; Avs D; Bvs C; Bvs D and C vs D. The outcome of these two-way contests are: 

AvsB: A=8 

B =35+ 6+ 7= 18 (winner) 
AvsC: A=8 

C=5+6+7=18(winner) 

AvsD: A=8 

D =5+ 6+ 7 = 18 (winner) 
BvsC: B =8+ 5+ 7=20(winner) 

C=6 
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BvsD: B=8+5+6=19(winner) 

D=7 

CwsD: D=7 
C=28+5+ 6= 19 (winner) 

Since B can beat any of the other three candidates in a two-way race, B would therefore be 

declared the winner. This procedure appears to have some strong attractive features. If some 

candidate can beat every other candidate in a two-way race, this candidate certainly seems to be 

the "fairest" choice of a winner. A useful way of visually representing the six two-way contests 

above, is by means of a tournament graph -as shown in Figure 7a. (Such graphs are often used to 

model round robin tournaments). 

A D B3 

£2 

D1 

B C A0 

Figure 7 

Diagrams such as these are also called digraphs, which is short for directed graphs. This means 
that each of the vertices are joined with all the others by means of directed line segments. We can 
also use this diagram to rank the four candidates by counting the number of wins of each 
candidate. This ranking is shown in Figure 7b with the number of wins next to each candidate. It 
is imer:st:ing_to fiote that the plurality winner A, is ranked Jasp. 

Exercise § 

(a) Is there a Condorcet winner for the election shown in Figure 67 

(b) Duncan Black, a 20th century political scientist, proposed an alternative procedure for 
ranking, namely, to add all the votes each candidate got in the two-way contests with all the 
other candidates. For example, for the election in Figure 3, we would have B = 57, C = 43, 
D =32and A = 24. Note therefore that the ranking of these candidates would be unaltered 
from the one shown in Figure 7. Is there a winner according to Black’s procedure for the 
election shown in Figure 6? 

(c) Canyou devise an election where there is more than one "winner" (candidate with the highest 
score) according to Black's procedure? 

(d) How many two-way contests are there for five candidates? Six candidates? n candidates? 

(e) If we use Black's procedure, what is the sum of the scores of all the candidates in a two-way 
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contest election with n candidates and m voters? Investigate. 
(f) What is the maximum number of wins a candidate can have ina two-way contest election with 7 candidates? Investigate. 

(g) If instead we use Black’s procedure, what is the maximum score a candidate can have in a two-way contest election with » candidates and m voters? Investigate. 
(h) What is the minimum number of wins a candidate can have in a two-way contest election with n candidates? Investigate, 

(i) If instead we use Black’s procedure, what is the minimum score a candidate can have in a two-way contest election with n candidates and m voters? Investigate. 
() What is the minimum number of wins a winner (a candidate with highest number of wins) can haveina two-way contest election with candidates? Investigate. 

(1) What is the maximum number of winners (candidates with highest number of wins) in a two-way contest election with candidates? Investigate. 
(m)If instead we use Black’s procedure, what is the maximum number of winners (candidates with highest scores) in a two-way contest election with ncandidates andm voters? Investigate. 
Borda’s decision procedure 

Applying Borda’s method to the election in Figure 3, we obtain: 
A =8(4) +5(1) + 6(1) + 7(1) = 50 
B=8(3) +534) + 6(3)+7(3) =83 
C=802)+5@3) + 6(4) + 7(2) = 69 
D =8(1) + 52) + 6(2) + 7(4) = 58 

(a) Is there a winner, as well as a ranking, for the candidates in the election shown in Figure 6 

  

  
  

 



  

using the Borda procedure? 

(b) Can you devise an election where there is more than one Borda "winner" (candidate with the 

highest score)? Investigate. 

(c) What is the maximum points a Borda winner can have with n candidates and m voters? 

Investigate. 

(d) What is the total sum of all the Borda points for n candidates and m voters? Investigate. 

(e) What is the minimum points a Borda winner can have with n candidates and m voters? 

Investigate. 

(f) What is the minimum Borda points a candidate can have with  candidates and m voters? 

Can there be more than one candidate that has this minimum score? Investigate. 

(g) What is the maximum number of Borda winners inan election with n candidatesand m voters? 

Investigate. 

(h) Suppose instead of using n points for a first place inan candidate election, n - 1 for a second 

place, etc., one uses p points for a first place, points for a second place, etc., wherep > g > 

r ... will the relative rankings of the candidates change or always remain the same? Investigate. 

Arrow’s theorem 

As we have seen in the preceding. sections there are several different election procedures. 

Although each contains some democratic features, they can yield different winning candidates 

(and rankings of candidates). How are we then to decide the “fairest" election procedure for the 

winner of an election? i 

This is precisely the problem that Kenneth Arrow , an economist, tackled before coming up with 

a mathematical argument in 1951, which in lay-man’s terms, demonstrate that any conceivable 

democratic voting system can yield undemocratic results. Paul Samuelson, later the winner of the 

Nobel Memorial Prize in Economic Sciences summarised it as follows (as quoted from Hoffmann, 

1991:231): ; 

"The search of the great minds of recorded history for the perfect democracy, it tums out, is the 

search for a chimera, for a logical self-contradiction. Now scholars all over the world - in 

mathematics, politics, philosophy and economics - are trying to salvage what can be salvaged 

from Arrow’s devastating discovery that is to mathematical politics what Kurt Gédel’s 1931 

impossibility-of-proving-consistency theorem is to mathematical logic." 

Arrow’s "devastating discovery" eventually resulted in his winning the Nobel Prize in Economics 

in 1972. Strictly speaking, Arrow was interested in mathematically analysing election procedures 

which rank all the candidates, rather than just selecting a single winner from them. For this 

purpose he listed five important features that determine the "faimess" of an election procedure. 
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1. All possible preference schedules are admissible; there are no institutions (e.g. political parties) that can restrict the orderings so that certain preference schedules cannot be 

2. There should be no dictator. In other words, for any two candidates A; andAj, there is no individual voter such that whenever s/he prefers Aj to Aj, Aiisalways preferred to Ajinsociety. 3. Ifeveryvoter prefers candidate A; to candidate Aj, then society should prefer Aj to Aj; 4. Given that society prefers candidate A; to candidate Aj and voters either raise or do not change the ranking of Aj, while the ranking of Aj remains unchanged, then the social ordering of A in relation to Aj should remain unchanged. 
5. IfSisasubsetof the available candidates, and voters change theiractual preference schedules » with respect to candidates not in S, then the social ordering of the candidates in S should not change. Essentially this implies that the method used should not encourage voters to lie about their true preferences. z 

Using the aforementioned criteria and two others, Arrow then formulated and proved the following theorem: 
"There does not exist an election procedure which ranks for society three or more candidates, ~basedorindividual preferences, and which obeys five faimess conditions." Essentially the meaning of Arrow’s theorem is that any election procedure for more than two 

voting, a positive spin-off of his result has been that it has encouraged an explosion of new mathematical investigations into current election decision Pprocedures in order to improve them as much as possible, 

Is soclety irrational? 
Already in the 18th century the Marquis de Condorcet identified a fundamental voting paradox while working on his election decision procedure. He discovered that society as a whole may have preferences that, if held by an individual, would be dismissed as totally irrational. Consider for simplicity’s sake a "society" consisting of only three individuals a, B and y with their respective 

  
  

 



  

preference schedules for three candidates A, B and C as shown in Figure 8a. 

A C B A 

B A c 

(€ B A 

a B y Cc B 

Figure 8 

Individual a prefers candidate A to candidate B and candidate B to candidate C. Given these 

preferences, (s)he would clearly be irrational if (s)he preferred candidate C to A. Yet these are 

precisely the preferences of their little "society" as a whole! For example, in two-way contests as 

shown in Figure 8b, A would beat B, B would beat C and C would beat A. In technical terms, 

although the preferences of the above mentioned individuals are transifive, we obtain a cyclic 

triangle for their society as a whole which represents an intransitive relation! (A binary relation 

~ onasetS is transitive, if for alla, b and c in S, whenevera ~ bandb ~ cthana ~ c). 

What is the probability of a societal intransitivity occurring for three voters and three candidates? 

As shown in Exercise 2(a), there are 6 different individual preference schedules possible for three 

candidates, namely ABC, ACB, BAC, BCA, CAB and CBA (arranged from high to low). We now 

need to consider the total number of possible ways in which three voters can select different 

combinations of these 6 preference schedules. Since the first, second and third voter can each 

choose from 6 possibilities, we have according to the counting principle, the total number of 

possible ways as 6 x 6 x 6 = 216. 

With regard to the intransitivity shown in Figure 8, the first voter can choose in 3 different ways 

from the preference schedules ABC, CAB and BCA, the second voter in 2 different ways and the 

third only in 1 way. Therefore, according to the counting principle, there are 3 x 2 x 1 = 6 possible 

ways the intransitivity shown in Figure 8b can arise. 

However, we may also obtain a different intransitivity as shown in Figure 9 from any combination 

of the three preference schedules ACB, BAC and CBA. As before, we also have 6 possible ways 

in which this situation can arise. The total number of possible ways in which an intransitivity can 

therefore arise for three voters is 12, and the probability of it occurring is given by 12/216 or 5,6%. 

A 

i 
Figure 9 
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Although this probability may seem negligibly small, one should realize that is only for the simplest case of three voters and three candidates. For four candidates there are for instance several possible intransitivities that can occur. Some examples are shown in Figure 10. As a matter of interest, note the intransitivities between all four candidates in the last two cases (A+B-D -0C~oAandB-0A-oC-oD-oB). 

A E B A ; B 

D C D C 
A ; B A ; B 

D C D C s 

  

Figure 10 

Number of voters 

3 5= v Sy 9 © 
.g 3| s 69 75 78 88 
2 4| 1 139 150 156 176 . e 

8 5| 160 20,0 21,5 230 25,1 = 
26l ia0g 25,5 258 284 31,5 o 

£ 7] 2 29,9 305 342 36,9 
T LY 1000 1000 1000 

Table 3 

Probability of societal intransitivity in percentage (from Brams, 1976:42) 
Steven Brams (1976:42) a game theorist, shows that the probability of societal intransitivity increases as the number of candidates and voters increase, but that it is more sensitive to the number of candidates. As shown in Table 3, if the number of candidates remain fixed at three, the possibility of the paradox increases only slightly, from 5,6% for three voters to 8,8% as the 

  

  
  

 



  

number of voters approaches infinity. If, however, the number of voters is held fixed at three, the 

probability of the paradox skyrockets, from 5,6% for three candidates to 100% as the.1 umbcr of 

candidates approaches infinity. With regard to the South African situation, where there are 

presently so many diverse political parties, it is a bit disconcerting to notice that for only 7 parties, 

the probability of the paradox occurring, is already above 3315 %. 

Proportional representation 

One of the major problems of a plurality system is that governments may be elected on a minority 

of the vote. For example, in 1948 D F Malan came to power in South Africa with only 42% of the 

popular vote as opposed to 52% of Jan Smuts’ United Labour Party Coalition. This anomaly was 

caused by the United/Labour Party coalition winning fewer seats, but with larger majorities, whilst 

the nationalists won more seats, but with smaller majorities. Similar situations have regularly 

occurred in Britain. 

Another problem of a plurality system is the frequent under-representation of minorities. For 

example, in 1983 in Britain the Alliance got 25,4% of the vote, but only 3,5% of the seats. Similar 

situations have occurred in other countries. The Social Credit Party has been constantly under- 

represented in New Zealand, the Herstigte Nasionale Party in South Africa, as well as numerous 

parties in Canada and India. 

Exercise 7 
(a) Consider a "country" of 300 voters and three constituencies of 100 voters each. Construct an 

example of a plurality election with three parties A, B and C where the winning party does 

not obtain a majority of the total vote, and one of the parties also does not win a single seat 

in the three seat parliament, although they command a sizeable percentage of the total vote. 

(b) What is the highest percentage of the total votes a party can get in a plurality election with m 

voters, n parties and p equal constituencies, without winning a single seat in parliament? 

Investigate. 

(c) What is the lowest pcrcéntag: of the total vote a winning party can get in a plurality election 

with m voters, n parties and p equal constituencies? Investigate. 

Proportional representation (PR) systems attempt to address the above-mentioned problems by 

allocating seats in proportion to the votes gained in an entire country. There are many types of 

PR systems, but in general they can be classified into list systems and the single transferable vote 

system (STV). Usually proportional representation systems consist of both regional, as well as 

national allocations of seats. At the regional level, instead of only a single winning candidate for 

each constituency (as in standard plurality systems), proportional representation systems nor- 

mally allocate more-than one seat. 
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List proportional representation 
Almost all continental countries, with the exception of France, use list proportional repre- sentation systems for the election of parliament. It appears that current thinking amongst the negotiating parties at Kempton Park also tends towards a list proportional representation for the new South Africa. 

Toillustrate list PR let’s consider a fictitious society or constituency consisting of 23 voters and 2 available seats to represent them. Let’s further assume that there are only two parties, X and Y, and that the former is conservative and the latter is liberal. There are two candidates, A and B from party X, with A the more radical of the two. Similarly, there are also two candidates, C and D, from party Y, with D the more radical of the two. Thirteen of the 23 voters are conservative, and the remaining ten are liberal. The preferences of the voters are given in Figure 11. 
Conservative Liberal - 

A B C D 
B A D c 
C C B B 
D D A A 
7 6 6 4 

Figure 11 

In an expanded Plurality election in which each voter is allowed to vote for two candidates, A and B would win, with 13 first and second Place votes apiece. In other words, the 10 liberal voters would not be represented, even though they constitute 43% of the electorate. The 13 conservative voters, who make up 57% of the elecmfimw of the representation. 
In‘contrast, in a list PR system, voters usually do not vote for individual candidates, but for the two parties, X and Y respectively. Party X would therefore draw 56,5% of the vote and be entitled to that percentage of the available seats, namely 1,13 seat. Similarly, party Y would draw 43,5% of the vote and be entitled to 0,87 seat. However, since the allocation of fractional numbers of seats for parties are Physically impossible, it seems reasonable to round off the above numbers of seats so that each party is allocated one seat. From a ranking list of their two candidates, each party would then appoint their most preferred candidate in the allocated seat. 

List PR therefore clearly provides better representation of the electorate than an expanded plurality system. However, one problem with list PR is that the voter preferences as shown in Figure 11 are completely ignored. Therefore voters ultimately have no say regarding which candidates should fill the allocated POsts, as this is left entirely in the hands of the respective political parties. In our example, for instance, nothing stops parties X and Y to respectively 
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appoint their most radical candidates namely, A and D. This could increase polarisation and lead 

to conflict. In any case, this might not be a good representation of the wishes of the society or 

constituency as a whole, since all the conservative voters ranked D last, whilst all the liberal voters 

ranked A last! 

Under list PR, appointed candidates would therefore not be directly accountable to the elector- 

ate, but only to their respective parties. This could encourage blind allegiance and conformity to 

the party ideology in order to secure an electable place on the party list. Reynolds (1993:47) 

appropriately sums list PR up as a voting system 'for parties not for the people". 

An interesting mathematical problem with list PR is determining the "apportionment" of available 

seats to the different parties, according to the proportion of votes gained by each party. The 

problem is that dividing the number of available seats according to the proportion of votes gained, 

may not necessarily yield an integral number of seats to each party, as we saw in our example 

above. How does one decide on a fair apportionment of seats in such cases? 

This problem is not quite as straightforward as it looks. In fact, there are several different methods, 

four of which we will discuss below pointing out some of their strengths and weaknesses. 

Hamilton’s method 

This method is also known in the literature as the Vinton method of 1850 or the method of "greatest 

remainders". It has however become more well-known as Hamilton’s method, who as Treasury 

Secretary of the American Congress, first proposed this method in 1792 for congressional 

apportionment of seats to the different American states. It was however vetoed by George 

Washington at the time, and was not used for congressional apportionment until the period 1850 

-1901. Today itis used in PR systems in Costa Rica, the Swiss national Council and for the federal 

parts of Sweden’s one house. EU 

This method works as follows. Firstly each political party is initially allocated a number of seats 

equal to the integral part of its ideal representation, the fractional part being discarded. In other 

words, if Party A is ideally entitled to 3,67 seats, it is first allocated 3 seats. The number of seats 

allocated to all the parties on this basis is then totalled, and if the total falls short of the designated 

house (at regional or national level), then the house is filled by allocating additional seats in 

descending order to the parties from the largest to the smallest discarded fraction. 

As an illustration of Hamilton’s method, consider Table 4 which shows the results of a fictitious 

election with five political parties and the number of seats each should receive in a house of 26 

seats (adapted from Balinski & Young, 1975). Initially Parties A, B, C, D and E are respectively 

allocated the fallowing numbers of seats: 9, 7, 5, 3 and 1. But since this accounts for only 25 of the 

26 seats, Party D, having the highest fraction (0,319), is thus allocated an additional seat for a 

total of 4. 
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Party Number of Ideal quota 1 st round 2 nd round 
votes of seats 

A 9061 9,061 9 9 B 7179 7,179 7 7k C . 5259 5,259 S S D 3319 3,319 3 4 E 1182 1,182 1 1 TOTAL 26 000 26 25 26 

Table 4 

Exercise 8 

(a) If a party draws x; votes out of a total of x votes, write a formula for the ideal quota (gj) it should be allocated from a total of s available seats. What would its first round allotment of seats be? 

One important criterion for evaluating the fairness of a proportional representation is that of quota. To satisfy quota means that if the ideal quota of a party is i, then no party should be allocated less seats than INT(gi) and certainly no more than INT(gi) + 1. (See Exercise 1(b) for a definition of the function INT(x)). For example, if a party has an ideal quota of 6,71 seats it should receive no less than 6 and no more than 7 seats in the final allotment. Balinski & Young (1975:703) show that Hamilton’s method will always satisfy quota. 

Exercise 9 

(a) Imagine that only the size of the house in our five-party example is increased from 26 to 27. Using Hamilton’s method, calculate how many seats must now be allocated to each party, (b) Compare your calculations with the allotment of seats shown in Table 4. What do You notice about the new allotment of seats, in particular that of party D? Do you think it is fair? 
(c) Imagine that, apart from the increase of the house to 27 seats, the number of voters is now also increased to 27 000, If the Proportion of votes for each Pparty remains constant, does the Hamilton allotment change from that in (a)? 
(d) If the house size remains fixed atacertainvalue (say 26), would the Hamilton allotment always remain constant or change as the number of voters increase? (Assume that the proportion of votes for each party remains constant). 
As shown in (a) and (b) above, Hamilton’s method, violates a subtle criterion of fairness. In the 27-seat house, Parties A, B,C,DandE are now respectively allocated the following numbers of seats: 9,8,6,3and 1. Paradoxically, although neither the total number of voters nor the proportion of votes for Party D has changed Party D now has fewer seats in a larger house! (Note that this 
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can also occur if the number of voters are increased with the size of the house as shown in 8(c) 

above). This troubling paradox is called the Alabama paradox (because it was first detected in 

some calculations involving that American state). 

It is interesting (and amusing) to note the highly emotional reaction of some American repre- 

sentatives to the frequent occurrence of this paradox, for example: 

"I thought mathematics was a divine science. I thought that mathematics was the only science 

that spoke to inspiration and was infallible in its utterances. I have been told that while in 

astronomy and philosophy and geometry and all other sciences, there was something left for 

speculation, that mathematics, like the voice of Revelation, said when it spoke, "Thus saith the 

Lord.” But here is a new system of mathematics that demonstrates the truth to be false." 

— Roger Mills (Texas) in 1882 (from Hoffman, 1991:259) 

*... it does seem as though mathematics and science has combined to make a shuttlecock and 

battle door of the State of Maine in connection with the scientific basis upon which this bill is 

presented ... God help the State of Maine when mathematics reach for her ..." 

— Charles Littlefield (Maine) in 1891 (from Balinski & Young, 1975:704) 

"This atrocity which mathematicians have elected to call a 'paradox’ ... this freak which presents 

a mathematical impossibility." 

— John Bell (Colorado) in 1901 (from Balinski & Young, 1975:704) 

"(The Alabama paradox) ... is so eminently unfair that in several instances congress has 

modified it to prevent palpable injustice." 

— E. Crumpacker in 1911 (from Balinski & Young, 1975:705) 

If, as proposed, Hamilton’s method is accepted for the allotment of parliamentary seats in the 

new South Africa, we might see similar emotional pronouncements when parliament is expanded 

16 for 'ex;mple, keep track with the growing population. L 

Jefferson’s method 

Jefferson’s method was followed by the United States Congress from 1792 until 1841. It was 

reinvented by D’Hondt, a Belgian lawyer in 1878, and is still used today in Belgium, the 

Netherlands, Israel, Liechtenstein, Finland, Germany, Brazil and Austria. It goes under a variety 

of different names such as D’Hondt’s method, Hagenbach-Bischoff method and the methods of 

"highest averages" or "greatest divisors". 

Jefferson’s method calls for using the largest divisor when divided into the numbers of votes of 

each party, would respectively yield numbers for each party that when left alone or rounded down, 

sum to the size of the house. In our example in Table 4, we must therefore find the largest divisor 

40 that 

Ve 2L T oy + INT £+ INT &22) & T A1) 26 
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Note that Hamilton’s method as illustrated in Table 4 had in this case the effect of dividing each 

party’s vote by 1000 to obtain their respective ideal quotas. Since the integral parts of these ideal 

quotas only sum to 25, it follows that our search for the largest divisor in the above equation should 
focus on divisors smaller than 1000. It turns out that 906 is the greatest (integer) divisor that gives 

such a result as shown in Table 5. 

Party Votes Divisor 1000 Hamilton Divisor 906 .iefl‘erson 

Allotment 

A 9061 9,061 9 10,001 10 

B n”n 7,719 7 7,724 7 

C 5259 5,259 5 5,805 5 

D 3319 3,319 4 3,663 3 

E 1182 1,182 1 1,305 1 

TOTAL 26 26 

Table 5 i 

As shown in Table 5, Jefferson’s and Hamilton'’s methods yield different results. Under Jeffer- 
son’s, Party A, the party with the most votes, gains a seat while Party D loses one. In fact, it can 
be shown mathematically that in general Jefferson’s method tends to favour parties with a larger 
proportion of the total vote. Interestingly, Hoffman (1991:264) speculates that Jefferson, who 
was from the largest American State at that time, namely, Virginia, was fully aware of this property 
when he proposed it to Congress. 

- - 
Exercise 10 Gl s - 

(a) Imagine again that only the size of the house in our five-party example is increased from 26 
to 27. Using Jefferson’s method, calculate how many seats must now be allocated to each 
party. 

(b) Compare the new Jefferson allotment with the previous one in Table 5. What do you notice? 

(c) Imagine that the number of voters simultaneously increase to 27 000 as the house size 
increases to 27. If we assume that the proportion of votes for each party remains the same, 
does the Jefferson allotment change from that in (a)? 

(d) If the house size remains fixed at a certain value(say 26) would the Jefferson allotment always 
remain constant or change as the number of voters increase? (Assume that the proportion of 
votes for each party remain constant). 

(e) Does Jefferson’s method always satisfy quota? Investigate. 

     



  

(f) Ifonly the house size increases, at what house size will Party E first receive an additional seat? 

How many seats will the other parties then have respectively? 

(g) Canyou construct an example with Jefferson’s method in which the Alabama paradox arises? 

Investigate. : 

Webster's method 

In 1832 Daniel Webster proposed a method to Congress which is also based on the selection of 

a greatest divisor. Unlike Jefferson’s method, however, the resulting numbers are not rounded 

down, but rounded according to the standard convention; down for fractions of less than 05and 

up for fractions of 0,5 and above. In relation to our example in Table 4, we must therefore find 

the largest divisor 4 so that: 

INT %L, 0,5+ INT 32+ 0,5+ INT 52+ 05)+ INT €32+ 0,51+ INT 322+ 05)=26. 

(Note that Webster’s method has been reinvented in other guises and is also alternatively known 

as the "method of odd numbers" or the "Sainte-Lagué". It is today used for proportional repre- 

sentation in Denmark, Sweden and Norway). 

It turns out that 957 is the greatest (integer divisor) that satisfies the above equation and produces 

the third allotment (W) shown in Table 6. Note that it differs from the previous two allotments 

(H & J) and that Party B does better than it did in either of the other two allotments. 

Party H J w 

A 9 10 9 

B i 7 8 

€ S S 5 

D 4 3 3 

E 1 1 1 

26 26 26 

Table 6 

Exercise 11 
(a) Imagine again that only the size of the house in our five party example increases from 26 to 

27. Using Webster’s method, calculate how many seats must now be allocated to each party. 

(b) Compare the new Webster allotment with the previous one in Table 6. What do you notice? 
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(c) Imagine that the number of voters simultaneously increase to 27 000 as the house size 

increases to 27. If we assume that the proportion of votes remains the same for each party, 

does the Webster allotment change from that in (a)? 

(d) If the house size remains fixed at a certain value (say 26), would the Webster allotment always 

* remain constant as the number of voters increase? (Assume that the proportion of votes for 

each party remain constant). 

(e) Does Webster’s method always satisfy quota? Investigate. 

(f) If only the house size increases, at what house size will Party E first receive an additional seat? 

How many seats will the other parties then have respectively? 

(g) Can you construct an example with Webster’s method in which the Alabama paradox arises? 

Investigate. 

There are many other apportionment methods, the majority of which are also divisor methods, 

for example, the method of "smallest divisors" (SD) and "equal proportions" (EP) method. Allot- 

ments for our five-party example according to these two methods are given in Table 7. (Compare 

with Table 6). Interested readers may consult Balinski & Young (1975 & 1982) and Hoffman 

(1991) for further details about these and other methods. 

Party  SD EP 

A dio 9 

B 7 7 

L c 5 6 

e S SR 3 3 N 
E 2 1 

26 2% 

Table 7 

Interestingly, the Equal Proportions method was proposed in 1921 by a Harvard mathematician 
called Huntington and is presently still being used in the American Congress. However, although 
his method avoids the Alabama parado, it violates the more fundamental criterion of always 
satisfying quota. For example, Balinski & Young (1975:711-712) show cases where the ideal 
quotas, and the allocated seats according to this method, differ by 6. (Despite this glaring 

mathematical indictment, the American Congress is apparently still using it — it makes one think, 
doesn’t it?). 
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So far we have seen that although the Hamilton method always satisfies the criterion of quota, it 
is vulnerable to the Alabama paradox. On the other hand, although all divisor methods, like 
Jefferson’s and Webster's always avoid the Alabama paradox, they may violate the criterion of 
quota. Is it possible to construct an apportionment method which always satisfies the criterion of 
quota and avoids the Alabama paradox? 

Quota method 

Perhaps surprisingly Balinski & Young (1975:714-721) managed to devise an ingenious method 
which they have called the Quota Method, and then proved the following theorem in relation to 
it: 

"The Quota Method is the unique ap)xzmbnment method which always satisfied quota and 
avoids the Alabama paradox". 

This method works by starting from a house with no seats and then increasing the size of the house 
by one seat at a time, until the desired size (s) is reached. At each level the number of votes (xi) 
of each eligible party is divided by its present number of seats plus one (si + 1). The additional 
seat is then assigned to the eligible party with the highest value of xi/(si + 1). Note that an eligible 
party at each level is defined as any party for which the present number of seats is less than the 
ideal quota (gi) at that level; in other words, if si < gi. 

House size 

Party  Votes 1 2 3 4 ; 26 
A 9061 1 1 1 2 10 

= B v "7“1‘79‘1. '_.q’. Sl e 1 1 7 
C 5250 g 0 1 1 5 
D 3319 0 0 0 0 3 
E 1182 0 0 0 0 1 
TOTAL 26000 1 2 3 4 26 

Table 8 

Let’s consider our five-party example for 26 seats (see Table 8). For a house size of 1, all parties 
are clearly eligible since the present number of seats for each party is zero (0 < gj). Division of 
each party’s votes by 1, clearly results in the highest value for Party A, and therefore it is allotted 
the seat. For a house size of 2, Party A is not eligible for a seat since it already has 1 seat and its 
ideal quota at that level is 0,70. The additional seat is therefore allocated to Party B which has 
the highest value for xi/(si + 1), namely 7179. For a house size of 3, Party A is again eligible since 
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itonly has 1 seat and its ideal quota is 1,05. Party B however is not eligible since it has 1 seat with 
its ideal quota 0,83. The additional seat is therefore allocated to Party C which has the highest 
value of xi/(si + 1), namely 5259 (as opposed to 4530,5 for party A). Continuing in this manner it 
is easy to determine the allocation for a house size of 26. 

Exercise 12 

(a) Can you write a computer program for the allotment of seats according to the Quota method? 

(b) How many seats must be allocated to each party according to the Quota method if only the 
house size is increased from 26 to 27? 

(c) If only the house size increases, at what house size will Party E receive an additional seat for 
the first time? Do you think it is fair? 

(d) Can you devise a variation of the Quota method which addresses the problem in (c)? 

(e) Determine the Quota allotment for a house size of 13 for the following election result: A = 
501, B = 394,C = 156 and D = 149. 

(f) Determine the Quota allotment for the preceding example if Party B received 400 votes 
instead. Carefully compare with the previous allotment. What do you notice? Do you think it 
is fair? 

(g) Repeat (e) and (f) above with the Hamilton and Webster methods. Do they succumb to the 
same paradox mentioned there? If not, do you think they will always avoid this paradox? 
Investigate. : 

Of the various parameters affecting apportionment - relative proportions of the vote, house size 
and numbser of parties — the former is constantly changing, whereas the last two typically change 
less frequently. Although preferably an apportionment method should be consistent with changes 
in all three of these parameters, it is probably most important to be consistent with changes in 
the relative proportions of the vote. Intuitively, one might require for instance the condition that 
if a party’s ideal quota (gi) increases then its apportionment of seats (si) should preferably 
increase, but at worst, not decrease. 

However, Balinski & Young (1982:107-108) have proved that no apportionment method can 
always satisfy this strong criterion. Why this is the case is easily illustrated with the following 
example. Suppose we have a house size of 5 and parties A, B and C received 43 500, 69 000 and 
37 500 votes respectively. Since the ideal quotas are 1,45; 2,3 and 1,25, they would be allocated 
2,2 and 1 seats respectively by the Hamilton allotment. Suppose in the next election, Parties A, 
Band Creceive 45 000, 59 000 and 46 000 votes respectively. Then although Party A’s ideal quota 
has increased to 1,5; it loses a seat to party C which had a larger increase in its ideal quota (from 
1,250 1,53). 

  
  

 



  

Aweaker criterion for consistency with changes in the relative Proportions of the vote is to require that if Party Aj’s ideal quota (gi) increases and Party Aj’s ideal quota (gj) decreases, then Party Aishould not get fewer seats and Party Ajmore. Using this criterion, Balinski & Young (1982:129 - 130) proved that no apportionment method can always satisfy this criterion and the criterion of quota. Thus we are faced with a dilemma: there is no perfect apportionment method. Some compromise will have to be made. Either we must sacrifice the principle of staying within quota, or the possibility of consistency paradoxes (as shown in Exercise 12(e) & (f)), have to be accepted. Balinski & Young ( 1982) argue that it seems more important to avoid consistency paradoxes (i.e. in order to accurately reflect relative changes in the proportions of the vote) than always staying within quota. They proceed further by proving that only the divisor methods will always avoid consistency paradoxes. By comparing the various divisor methods with Monte Carlo simulation (a probability technique) and other means, they conclude that Webster’s method is not only least likely to violate quota, but also stays near to it. Furthermore, they show that Webster’s method is the only divisor method that is unbiased to the relative sizes of the Pparties. 
The only reasonable (but less satisfactory) alternative would be to consider Quota methods which at least stay within quota and avoid the Alabama paradox, although they do not always avoid Consistency paradoxes. In this respect, it seems that the Quota-Hamilton method and other variations mentioned in Exercise 12(d) might be worth investigating further in terms of bias, as well as their likelihood for violating consistency. 

The single transferable vote (sTV) 
Itis not quite clear who first designed or proposed this method. According to Fishburn & Brams 
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the lowest vote getter is eliminated and the votes of his/her supporters are transferred to their 
next favourite choice. 

The quota is usually defined as follows. If there are s seats to be filled by 1 available candidates 
(n > 5), and the number of voters are m, then the quota is given by Q = INT(1 + m/(s + 1)). 

Let’s now illustrate this method in relation to our imaginary constituency shown in Figure 11. 
Since the quota is INT(1 + 23/3) = 8, each of the four candidates falls short. Consequently, the 
lowest vote-getter D is eliminated, and the votes of D’s four supporters are transferred to C, their 
second choice. The new preference schedules are now as shown in Figure 12. 

Now Chas exceeded the required quota by two votes, and is therefore elected. These two surplus 
votes of C are then transferred to B so that the remaining preference schedules are as shown in 
Figure 13. Therefore B has reached quota and is elected for the remaining seat. 

Conservative Liberal 

A B C 

B A 

Cc C A 

7 6 10 

Figure 12 8 

Conservative 

A B 

B A 

C c 

7 8 

Figure 13 

Itis interesting to compare this result with the expanded plurality and list proportional elections 
discussed earlier. In the first case A and B would win with no representation for the liberal voters. 
In the second case, a seat is assigned to each camp, but the voters have no say in who is appointed 
to the allotted seats. It is therefore possible in the second case that the radical candidates A and 
D from both camps are appointed by their respective parties. 

  
  

 



  

With preferential voting, however, the radical candidates in each camp is eliminated, and the more moderate candidates from each camp is elected. The difference lies in that the low rankings of candidates A and D, respectively by the liberals and conservatives, are taken into account. Impressed by results like these, the well-known author on politics and liberalism, John Stuart Mill 
(1806 - 1873) praised STV "as among the greatest improvements yet made in the theory and practice of government" (as quoted from Hoffman, 1991:244). 

Exercise 13 

(a) Suppose the number of seats in our example in Figure 11 is raised to 3. Which candidates 
would be elected with the single transferable vote method? 

(b) Suppose the number of seats in our example in Figure 11 is dropped to 1. Which candidate 
would be elected with the single transferable vote method? 

(c) Consider the preference schedules shown in Figure 14 for a constituency of 26 voters. Which 2 candidates would be elected with the single transferable vote method? 
A C D D B 

B D (& B C 

C B B C D 

D A A A A 

9 6 2 4 5 

Figure 14 

(d) Consider the preference schedules shown.in Figure 15. Note that it is identical to those shown in Figure 14, with the exception that the two voters who preferred candidate D to Cnow prefer candidate Cto D. Which 2 candidates would now be elected with the single transferable vote method? Carefully compare with the previous result. What do you notice? Do Yyou think it is fair? 

A c c D B 

B D D B C 

C B B (e D 

D A A A A 

9 6 2 4 5 

Figure 15 
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(e) Consider the preference schedules shown in Figure 16 for the election of a mayor in a small 

town of 1608 voters. Which candidate would be elected with the single transferable vote 

method? 

A A B B C C 

B C A C A B 

C B C A B A 

417 82 143 357 285 324 

Figure 16 

(f) Consider the preference schedules shown in Figure 17. Note that it is identical to those shown 

in Figure 16, with the exception that 2 more voters voted for the first preference schedule, 

ABC. Which candidate would now be elected with the single transferable vote method? 

Carefully compare with the previous result. What do you notice? Do you think it is fair? 

A A B B C C 

B C A C A B 

c B C A B A 

419 82 143 357 285 324 

Figure 17 

A disturbing feature of the STV method is illustrated in the hypothetical examples in (c) and (d) 

above, namely, that in some cases if a winner were ranked higher by some voters, all else 

unchanged, then another candidate might have won. Similarly, the examples in (e) and (f) show 

that the addition of ballots on which a losing candidate is ranked last may cause that candidate 

to be elected. Fishburn & Brams (1983) call the first example the "more-is-less" paradox and the 

second one the "no-show" paradox. They alsoillustrate another possible paradox that could plague 

STV elections, namely, the "multiple-districts" paradox. In the multiple-districts paradox a candi- 

date could win in two separate districts, yet lose the general election in the combined districts 

(Also see Doron & Kronick (1977) for other examples). 

Concluding remarks 

The ideal of representative democracy, one-person, one-vote is a simple idea, but to achieve it, 

is not. As we have seen in the preceding exercises and discussions, no election system is perfect 

  

 



  

ana completely free of the possibility of unfairness and the arising of a paradoxical situation, Nevertheless some methods exhibit more Positive features than others, and should be carefully weighed up against their negative features. It is now left to the individual to draw up a table listing all the election methods with their respective advantages and disadvantages. Which method would you prefer? Why? 

With a little effort the mathematics teacher could make the discussion of the preceding election methods even more interesting by letting pupils actually vote, for example for their favourite song from the current top twenty list. Or alternatively, they could vote for class representatives according to the various systems, and critically compare them. Apart from essential voter education, the study of election systems provides a meaningful context for elementary modelling % and for illustrating the power and usefulness of mathematics. Further reading and examples are Provided in the bibliography. : 

Lastly, it is also hoped that this publication might contribute to the deliberations at Kempton Park, or if decisions have already been taken, to their careful reconsideration. Although this is certainly not an exhaustive study, it may be helpful to alert legislators to some of the options available and issues involved. 
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Solutions 

Exercise 1 

(@) (i) 334% 

(i) 25,1% 

(iii) 20,1% 

(iv) 10,1% 

A plurality winner may be selected by a small percentage of the voters. 

(b) 100[INT(m/n) + 1))m 

Proof: If n is a factor of m, then the total vote of m could be split equally between all n parties, 
so that each party receives m/n votes. To be a plurality winner, a candidate would then need 
to obtain at least m/n + 1 votes. If  is not a factor of m, then m/n is not an integer. To be a 
plurality winner in this case, a candidate would need to obtain at least the smallest integer 
greater than m/n of the vote, in other words, at least INT (m/n) + 1 of the votes. In general 
therefore, a candidate needs to obtain at least INT (m/n) + 1 of the votes to be a plurality 
winner, which can be expressed as a percentage as follows: 100[INT (m/n) + 1)/m. 

Exercise 2 

@@ 6 

(i) 24 

(iii) 120 

(V) nl...(=nx(m-1)x n=-2)x..x2x1). 

®@ 13 

(i) 81 

If a voter is indifferent between candidates, the number of different preference schedules 
increases very sharply with an increase in the number of candidates. 

(c) Illiterate/innumerate voters may have difficulty filling in such ballots correctly, thus possibly 
leading to many spoilt votes. The use of such ballots in more sophisticated election procedures 
like STV (see later on), may also not be well understood by the electorate in general, leading to voter dissatisfaction. 

Exercise 3 

(a) Yes, B would still be the winner. 
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Exercise 4 

(a) n-1items. 

Proof: Each time one candidate is eliminated. Since only one winner must remain at the end, 

it should be clear that n — 1 candidates must be eliminated, and therefore the process must 

be repeated n - 1 times. 

(b) n - 1 times. Proof: Same as above. 

(c) (i) No,since A, B and C all have one first place vote each. 

(ii) No. For the standard run-off procedure, there are no two unique, highest first place vote 

getters. For the sequential run-off procedure, the problem is that after the elimination 

of D, there is no unique lowest vote-getter. 

@@ D 

(i) A 

(iii) The agenda D — A - B — C will result in C as the winner. 

(iv) The agenda A- C - D - B will result in B as the winner. 

Itis perhaps interesting to point out that in general in a sequential run-off procedure (as shown 

above), the later the candidate appears in the agenda, the greater the likelihood of that 

candidate being the winner. ; 

  

Exercise 5 

(a) No, there is no candidate who beats all the others in the six two-way contests. (See Figure 18). 

(Note that A and B appear to be the two strongest candidates with two wins apiece. However, 

since A beats B in a two-way contest, it might seem reasonable to choose A as the winner). 

2 A D 

Figure 18 

(b) Yes, B would be the winner with a total score of 6 votes in all the two-way contests. (For the 

other candidates, we have A = 5,C =4and D = 3). 

(c) In Figure 19, both A and B get total scores of S votes apiece in all the two-way contests, and 

therefore there is no unique winner according to Black’s procedure.   
    
 



  

Figure 19 

(d)n(n-1)/2. 

Proof: Each candidate must contest 1 — ] two-way contests. If we consider the product of n 

and n - 1, namely, n (n - 1), then each two-way contest is counted twice. The total number of 

two-way contests are therefore given by n(n - 1)/2. 

(e) mn(n-1)/2. 

Proof: In each two-way contest the total sum of the votes of the two candidates is m. Since 

there are n(n - 1)/2 two-way contests in total (see (d) above), the total sum of all the scores 

are given by mn(n - 1)/2. 

) n-1. 

Proof: A candidate would have a maximum number of wins when s/he wins all his/her two-way 
contests, namely, n - 1. (Also note that only one candidate could have this maximum number 
of wins, since the other candidates must have lost to him/her and their number of wins 

therefore cannot be n - 1). 

(g m(n-I1). 

Proof: In each two-way contest the maximum votes a candidate can get is m, and since the 
maximum number of wins is n - 1 (see (f) above), the maximum score of a candidate with 
Black’s procedure is m(n - 1). (Also note, as above in (f), that only one person could have this 
score). 

(h) 0. 

Proof: A candidate would have a minimum score if s/he loses all his/her two-way contests. 
(Also note that only one candidate could have this minimum, since the other candidates must 
at least have won against him/her and their scores can therefore not also be zero). 

@) 0. 

Proof: In each two-way contest the minimum votes a candidate can get is 0, and if s/he gets 
that score in all n - 1 two-way contests, the minimum score would be zero. (Alsonote, as above 

in (h), that only one person could have this score). 

G) (n-1)/2. 
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Proof: Assume that the "winner’s" score is a. From (d) above, we have that the sum of the 

other (n - 1) candidates is n(n — 1)/2 — a. The score of each of these (n - 1) candidates is at 

most a, therefore (n—1) a =z (n-1)/2-a which simplifies toa 2 (n-1)/2. 

(k)m(n-1)/2. 

Proof: Assume that the "winner’s" score is a. From (e) above, we have that the sum of the 

other (n - 1) candidates is mn(n — 1)/2 - a. The score of each of these (n - 1) candidates is at 

q most a, therefore 

(n-1)a 2mn(n-1)[2-a 

which simplifies to 

a z m(n-1)/2. 

() Ifn is odd, there can be n winners. If n is even, there can be at most n — 1 winners. 

Proof: From (d) above, the total number of wins is n(n — 1)/2 and the average score per   fi candidate is therefore ¢t = (n - 1)/2. If n is 0dd, ¢ is an integer and is it therefore possible that 

] all n candidates have the same score. If n is even, then 7 is not an integer, and not all n 

5 candidates can have the same score. If one candidate’s score is however 0, then it is possible 

g that the other (n — 1) candidates have the same score of #/2. (Note that n/2 is an integer in 

"H this case, since n is even). 

(m)If either m is even or 7 is odd, then there can be n winners. If m is odd and n is even, then 

there can be at most n — 1 winners. . | 
Proof: From (&) above, the total sum of all the scores is mn(n -1)/2 and the average score per 

¥ candidate is therefore ¢ = m(n - 1)/2. If either m is even or n is odd, ¢ is an integer and is it 

i T T Therefore possible that all # candidates have the same score #. If however, m is odd and n is 

| even, then 7 is not an integer, and not all n candidates can have the same score. If one 

”’ti candidate’s score is however 0, then it is possible that the other (n - ) candidates have the 

| same score of mn/2. (Note that mn/2 is an integer in this case, since 7 is even). 

  
i Exercise 6 

(a) Yes, B is the winner with 9 points, followed by A =8,C = 7and D = 6. 

(b) In Figure 19, both A and B get a Borda score of 8 points. 

  

(c) nm. 

Proof: A candidate would have the maximum Borda score if s/he is ranked highest in each of 

the preference schedules with respective votes x1, x2, x3, ... etc. Therefore, the maximum 

Borda score is given by: 

nxy + nx2 +nx3 + ... 

which simplifies to 

nxy+x2+x3+..). 

  e o   
 



  

Butx; +x2 +x3 + ... = m, and therefore the maximum Borda score is nm. (Note also that 
only one person can have this score since the other candidates must have been ranked lower 
and therefore their score cannot also be nm). 

(d)ymn(n + 1)/2. 

Proof: The sum of all the Borda scores is given bymn+mn-1)+mmn-2)+...+ m(2) 
+ m(1) whichsimplifiestom/n + (n-1) + (n-2) +... +2 + 1] =mn(n + 1)/2. (Note: The 
sumof1+ 2+ 3... ton terms is given by n(n + 1)/2). 

(€)ymn +1)/2. 

Proof: Assume that the "winner’s" score is a. From (d) above, we have that the sum of the 
other (n - 1) candidates is mn(n + 1)/2- a. The score of each of these (n - I) candidates is at 
most a, therefore 

(n-1)a 2 mn(n+1)/2-a 

~azm(n + 1)/2. 

) m. 

Proof: A candidate would have the minimum score if s/he is ranked lowest by all m voters. 
Since the lowest ranking is worth one Borda point, the minimum score is given by Lm = m. 
(Note also that only one person can have this score since the other candidates must have been 
ranked higher and therefore their score cannot also be m). 

(8) If either m is even or n is odd, then there can be n winners. If m is odd and n is even, then 
there can be at most 1 - 1 winners. 

Proof: From (d) above, the sum of all the Borda scores is mn(n + 1)/2 and the average score 
per candidate is therefore t = m(n + 1 )/2. If either m is even or n is odd, # is an integer and is 
it therefore possible that all n candidates have the same score 7. If, however, m is odd and n 
is even, then 7 is not an integer and not all n candidates can have the same score. If one 
candidate has the lowest score of m, the sum of the scores of the remaining candidates is given 
by mn(n + 1)/2-m which simplifies to m(n + 2)(n - 1)/2. 

In this case, it is therefore possible that the othe; (n - 1) candidates can have the same score 
of m(n + 2)/2. (Note that m(n + 2)/2is an integer, since # is even in this case). 

(h) No, the rankings will not necessarily always stay the same. Suppose for example in Figure 3 
that a first place position is given 100 points, a second place 3 points, a third place 2 points 
and a fourth place 1 point. Then 

A=8(100) +51) +6(1) + 7(1) =818 
B=8(3) +5100)+63) + 73) =563 
C=82) +503) +6100) + 72) =645 
D=81) +52 +6@2) + 7(100) =730 
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where we obtain a completely different winner, and the ranking is in reverse order to the 

original. 

Exercise 7 

(a) In Table 9, party A wins 2 out of the 3 available seats, but does not have a majority of the total 

vote (only 31,7%). Party B only wins 1 seat, but has a higher percentage of 39,3% of the total 

vote. Party C has 29% of the total vote, but wins no seat. 

Constituency 

Party ] 2 3 

A 25 B 34 36 

55 33 30 

C 20 33 34 

Table 9 

(b) 100p{INT (m/pn)}jm 
Proof: The number of voters in each constituency is m/p. (Note that in order to have equal 

numbers of voters in each constituency we are assuming p to be a factor of m). Therefore, a 

party will not win a seat if it gets INT(mjn) or less of the votes ina constituency{sce-Exercise 

1(b)). 

If it gets this number of votes in all p constituencies, then its percentage of the total vote is 

given by 100p [INT (mpn) /. 

(¢) 100p[INT (mpm) + 1)/m 
Proof: Similar to the above, and is left to the reader. 

Exercise 8 

(a) qi = (xifx)s 

Exercise 9 

(a) The new Hamilton allotment for a house size of 27 is shown in Table 10. 

(b) Surprisingly, Party D has lost a seat while Parties B and C have gained one seat each. Do you 

think it is fair that Party D loses a seat when the size of the house increases, but the total vote 

and the relative proportions of the vote for each party remain constant?   
    
 



  

rary vuies via INew 10eal New 

Allotment quota Allotment 

A 9061 9 9,410 9 

B 7179 7 7,455 8 

C 5259 5 5,461 6 

D 3319 4 3,447 3 

E 1182 1 1,227 1 

Total 26 000 26 27 

" Table 10 

() No. If the number of voters increase to 27 000, and the relative proportion of the votes remain 

constant, then each party will receive respectively 9410, 7455, 5461, 3447 and 1227 votes each 

(rounded off to the nearest integer). The ideal quotas therefore remain constant at respec- 

tively 9,410; 7,455; 5,461; 3,447 and 1,227. 

(d) The Hamilton allotment remains constant. This is a generalization of the observation in (c) 
above. 

Proof: Suppose the ideal quota for each party is (xi/x)s where xi is the number of votes for 
each party, x is the total vote and s is the number of seats. If the number of voters increase or 
decrease by a factor k, then the new total vote is kx. If the relative proportion of the total vote 
for each party remains constant, then the new number of votes for each party is given by 
(xi/x) x kc = kxi. Therefore, the new ideal quota is (kxi/kx)s = (xi/x)s, which is the same as the 
original. 

Exercise 10 

(a) For a house of 27, the largest (integer) divisor = 897 which gives us the following allotment: 
A=10,B=8C=5D=3andE=1. 

(b) Party B, the party with the second largest support, received an additional seat, but no party 
lose a seat. 

(c) No, it remains the same. 

(d) The Jefferson allotment remains constant. This is a generalization of the observation in (c). 
Proof: Consider equation (1): £ INT (xi/4;) = s where xj is the number of votes for each party 
and is the largest divisor which gives us the required house size of s seats. Suppose the total 
vote changes to kx, then the proportion of votes for each party changes to kx; (as shown in 
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Exercise 8(d)). Therefore we need to find the largest divisor A; so that £ INT (kxi/i; )= s, but 

a comparison of this equation with equation (1) above, shows that 42 must be equal to k. 

Therefore the allotment for each party remains constant, namely, INT(xi/4;). 

(e) No, Jefferson’s method does not always satisfy quota. For example for a house size of 40, the 

largest (integer) divisor is 604, which gives 15 seats to Party A. However, its ideal quota is only 

13,94. (Note: to avoid tedious calculation, the author used a computer program called 

Mathcad in finding the above example, as well as in the next question). Also see Exercise 

11(e). ] 

(f) At house size 42 with largest (integer) divisor 591. The other parties then have: A = 15,B = 

12, C = 8 and D = 5. This illustrates quite clearly the point made earlier, namely, that the 

Jefferson allotment tends to favour parties with a larger proportion of the vote. Incidentally, 

when using the Hamilton allotment, at what house size will Party E first receive an additional 

seat? (Also see Exercise 11(f), 12(c) & (d)). 

(8) No, the Alabama paradox cannot occur with the Jefferson’s method. Also see Exercise 11(g). 

Exercise 11 

(a) For a house of 27, the largest (integer) divisor 4 = 956 which gives us the following Webster 

allotment: A=9,B=8,C=6D=3,E=1. 

(b) Party C, gained a seat (as in the Hamilton allotment), but no party lost a seat. 

(c) No, it remains the same. 

(d) The Webster allotment remains constant. This is a generalization of the observation in (c). 

Proof: Similar to that of the Jefferson allotment, and is left as an exercise to the reader. 

(e) No, Webster’s method does not always satisfy the criterion of quota. Balinski & Young 

(1982:80) provide the hypothetical example shown in Table 11, where Party D violates quota. 

Party Votes Ideal Quota Allotment 

A 70 653 1,55 2 

B 117 404 2,58 3 

C 210923 4,63 ) 

D 1194 456 26,24 25 

TOTAL 1593 436 35 35 

Table 11 

(f) At house size 33 with largest (integer) divisor 2 = 788. The other parties then have: A = 11, 
B =9,C = 7and D = 4. Note that Webster’s method, unlike Jefferson’s, does not seem to 

favour larger parties. 

  

  
  

 



  

(g) INO, the Alabama paradox Cannot OCCUr With WeDsler s Meliod. Al ldel, 1L edll be shown in 

general that all divisor methods avoid the Alabama paradox. 

Proof: If the house size is to increase, then the common divisor must be made smaller. As the 

divisor 1 decreases, the quotientxi/ of every party increases, and each time a quotient passes 

an integer value (as in Jefferson’s) or a specific decimal value (0,5 in Webster’s) its party is 

allotted one more seat. Since no party’s quotient can possibly decrease, no party can lose a 

seat. Therefore the Alabama paradox cannot occur. 

Exercise 12 

(a) A computer program for the Quota method written in Basic is given in Figure 20. 

10 DIM X(20): DIM Q(500) :X=0 

15 PRINT "How many seats in the house?" 

20 INPUT S 
25 PRINT "How many parties?” 

30 INPUT N 
40 FOR I=1 TO N 

50 PRINT "No. of votes for party";I;"?" 

60 INPUT X(I):X=X+X(I) 
65 S(I)=0 

70 NEXT I 
80 FOR J=1 TO S 
85 FOR I=1 TO N 
88 Q(J)=X(I)*J/X 
90 IF S(I)<Q(J) THEN 110 
100 P(I)=0: GOTO 120 
110 P(I) = X(I)/(S(I)+1) 

120 NEXT I 
125 FOR K=1 TO N-1 
130 FOR I=1 TO N-1 
140 IF P(K) > P(K+I) THEN 160 
150 GOTO 170 
160 IF I=N-1 THEN 270 
165 NEXT I 
170 IF K=N-1 THEN 280 
180 NEXT K o 
190 NEXT J 
200 FOR I=1 TO N 
210 PRINT "s";I;"=";S(I) 

220 NEXT I 
230 END 
270 S(K)=S(K)+1:GOTO 190 
280 S(K+1)=S(K+1)+1: GOTO 190 . 

Figure 20 

(b) For a house size of 27, the quota allotment is: A= 10,B=8, C=5,D=3andE=1. 

(c) Party E first receives an additional seat at a house size of 42; the same as the Jefferson method. 

The other parties then have the following seats: A = 15, B = 12,C = 8and D = 5. It seems 

that the Quota method, like Jefferson’s method, tends to favour parties with larger propor- 

tions of the total vote. 

   



  

    

(d) A simple variation of the Quota method which still meets the criterion of quota, and also 
avoids the Alabama paradox is the following. Instead of assigning the additional seat at each 
level to the eligible party with the highest value of xi/(si + ), we can assign it to the party with 
the greatest difference between the ideal quota gj at that level and the present number of 
seats sj; in other words, to the eligible party with the highest value of g; - si. The program in 
Figure 20 can easily be adapted for this variation by replacing line 110 by P(I) = Q(J) -S(I). 

Q ¢ Q @ Q Q@ Q « 

A 1019% 90 7912 8112 #1514 

B T T 8T 10 A O] 25 12 

C LS CNI6h ¢ N7 R8T I8 

D 3 4T ANEE) a Ca s ISiTES 

E R benli IR ERES LR e Joiin [SL . 

Housesize 26 26 27 27 34 34 41 41 

Table 12 

A comparison between some allotments with the quota method Q and its variation Q' is given 
in Table 12. This clearly shows that whereas Q' tends to favour parties with larger proportions 
of the vote, Q' tends to more equitably distribute the available seats. For example, whereas 
Q' already assigns an additional seat to Party E at a house size of 34, Q only does that at a 
house size of 42. Note that this variation is very similar to the Hamilton method (with the 
exception that it avoids the Alabama paradox), and is known as the Quota-Hamilton method. 

Another variation is the following. Instead of #5¥¥ing the additional seat at each level to the 
eligible party with the highest value of gi - si, we can determine the largest divisor 4 so that 
for all eligible parties: £ INT(xi/4 + 0,5) = 1. In other words, the additional seat at each level 
would be allocated to that eligible party whose number of votes x;j divided by 4, results in a 
decimal of 0,5 or larger. This variation is known as the Quota-Webster method. Other 
variations of the Quota method can be found in Still (1979). 

(e) The result is given in Table 13. 

Party Votes Ideal Quota Q 

A 501 5,43 6 

B 394 4,27 5 

C 156 1,69 1 

D 149 1,61 1 

Total 1200 13,00 13 

Table 13 
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(f) The result is given in Table 14. 

Party Votes Ideal Quota Q 

A 501 5,40 6 

B 400 431 4 

C 156 1,68 2 

D 149 1,61 1 

Total 1206 13,00 13 

Table 14 

In this example from Balinski & Young (1982:40), we clearly have another paradoxical 
situation. While Party B gained in votes relative to all other parties (vote percentage increased 
from 32,8% to 33,2%), it actually lost a seat to Party C (whose vote percentage decreased from 
13% 10 12,9%)! In the text this paradoxis called a Consistency paradox by the author. (Balinski 
& Young (1982) call this the "Population" paradox). 

Interestingly, the variation Q' (Quota-Hamilton) gives in both cases the following allotment: 
A =5,B=4,C=2,D = 2. In this case Q' does not succumb to a Consistency paradox. In 
fact, it seems fairly resistant to the same type of Consistency paradox as the author tried 
unsuccessfully for a couple of hours to construct a similar example for it. 

However, the author easily found the following Consistency paradox with Q' as illustrated in 
Table 15, where for a house size of 11, the votes of the other parties are kept constant (A = 
501, C = 156 and D = 149) and Party B's support is increased from 394 to 440, and then to 
480. 

In the first two columns, Party Closes a seat to Party A, even though the percentage decrease 
of Party A’s support is greater than the percentage decrease of Party C’s support. Further- 
more, if Party B continues to gain votes, we surprisingly find that Party C suddenly regains 
this seat from Party A, which clearly shows the inconsistency of Q. 

B =394 B =440 B = 480 
Party Vote % Q' Vote % Q Vote % Q 
A 41,8 4 40,2 S 39,0 4 
B 328 4 3533 4 37,3 4 
c 13,0 2 12,5 1 121 
D 12,4 1 12,0 1 11,6 1 

11 i 1 

Table 15 
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(g) In the given examples in Tables 13 — 15, the Hamilton method does not exhibit a consistency 

paradox. However, it is not difficult to construct an example which demonstrates that it is not 

always immune to a consistency paradox, but that is left as an exercise to the reader. 

Webster’s method does not exhibit a consistency paradox with the given examples. In fact, it 

can be proved in general that all divisor methods always avoid consistency paradoxes. 

Proof: Suppose that one party increases relative to another, and that the slower-growing party 

gains at least one seat. Then the quotient xi/2 of the slower-growing party must have moved 

past an integer value (as in Jefferson’s) or a specific decimal value (0,5 in Webster’s). But 

since the first party has grown relative to the other, its quotient xj/A must also have increased 

and so in no case could possibly have lost a seat. So the consistency paradox cannot occur. 

Exercise 13 

(a) Since the new quota Q = INT(1 + 23/4) = 6, candidates A, B and C meet quota and are 

therefore elected for the available three seats. 

(b) Since the new quota is 12, all four candidates fall short. Consequently we again obtain the 

preference schedules in Figure 12, but still all three candidates fall short. The elimination of 

B, results in the transfer of B’s 6 votes to A, so that A meets quota and is elected. 

(c) The quota Q = INT(1 + 26/3) = 9.Since A has reached quota, s/he is elected. A has no surplus 

votes, so the lowest first place vote getter B is eliminated and his/her 5 votes are transferred 

to G, the second best choice to obtain the preference schedules shown in Figure 21. Therefore 

C, with 11 votes, is elected. _ 
v 

c D 4D 

D wilie c 

1 2 4 

Figure 21 

(d) Again A is immediately elected and has no surplus votes to transfer. This time, however, D is 

the lowest vote-getter and not B, and D’s four votes are therefore transferred to B as shown 

in Figure 22. Therefore B, with 9 votes meets quota and is elected. 

C C B 

B B C 

6 2 9 

Figure 22   
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This result is clearly paradoxical. The only difference between the preference schedules in 

Figures 14 and 15 is that in the last case two voters elevated C from second choice to first. 

This had the perverse effect of denying him/her election. It simply does not seem fair that a 

candidate could lose an election because he or she received too many first place votes, but 

would have won if some voters had voted for him or her in the second place instead of the 

first. 

(e) Candidate B would be elected. 

(f) Candidate Cwould be elected. The two additional votes in which C is ranked last, caused that 

candidate to be elected. In other words, the two additional voters who ranked C last would 

have been better off staying home than filling out a ballot on which they rank him/her last! 

(In fact even if 321 more people had voted ABC, candidate C would still win). 
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HTELTION : i 
CORSTTUFION AL ASSEBLY SUBITISS /0008 @sie 

72 Chapman Avenue 
SORDON’ S BAY 
7150 

  

14 January 1999 

The Secretariat 

Constitutional Assembly 

F.0. Box 15 
CAPE TOWN 
8000 

Dear Sir 

NEW CONSTITUTION 

In response to vour invitation for submissions to the Constitutional Assemb: . 

the foliowing: 

I believe that the only way to real democracy in our country is to entrenc™ 

the control of the electorate over politicians. in the constitution. 

The best way to do this is to allow the electorate the right to call for 

referenda to: 

- Recall public representatives from office 

- Initiate new laws or by-laws 

- Recall laws or by-laws 

- Have the final say on delimitation of local boundaries 

To call for a referendum the proponents must prove support througn a 

petition. of at least 10% of the eligible voters. 

This right to referenda must apply at all levels of government. 

Any changes to the constitution must be put to the public vote and may only 

be affected with an enlarged majority support. 

The government at the level at which the referendum is held. must be obligec 

to abide by the result of such a referendum. 

This right should be combined with a constituency based electoral system. e 

will provide for real accountability to the electorate. 

I believe that if we include the above in our constitution we will have real 

democracy and a constitution of which we can all! be proud. 

‘Yours faithfully 

  

53 

  

 



  

43 Mulder Street 
Floridapark 
1711 

31 January 1995 

The Executive Director 
Constitutional Assembly 
PO Box 15 
Cape Town 
8000 

Dear Sir | 

DRAFTING OF A NEW CONSTITUTION FOR THE REPUBLIC OF SOUTH AFRICA 

I would like to suggest that the following principles be contained in the constitution: 

@) The Constitution must make provision that different ballots are used for the election 

of National, Provincial and Local Governments. 

Voters do not necessarily vote for the same parties at the different levels of 

government. 

(i)  The Constitution must make provision for the protection of individuals and population 

groups. It must provide sufficient freedom so that, especially, the culture and 

religion of the different population groups are maintained, developed and extended. 

It is furthermore very important that language rights are not neglected. 

South Africans can enjoy peace and sound human relations only if we show respect 

for one another’s lives, possessions, culture and religion. 

(iii)  Our laws and legal system must command respect and must prevent and discourage 

crime. 

Kind regards 

Matt Klopper 
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Ubb:,l—. D20t 

-y Muldersrat 43 

13 FEB 1995 Flor 
{? 001268 31 januarie 1995 

Die Ustvosrende Difehicur 
Grondwetlike Vergadering 
Posbus 15 

o™ 
Geagte Meneer S s 

OPSTEL VAN 'N NUWE GRONDWET VIR DIE REPUBLIEK VAN SUID- 

AFRIKA 

GnuwflekvoomeldntdievolgwdebqimehhdienuweGmndwuvmwd: 

@ Die Grondwet moet voorsiening maak dat verskillende stembriewe vir die 

verkiesing van die Nasionale-, Provinsiale- en Plaaslike Regerings gebruik 

word. 

Kiesers stem nie noodwendig vir dieselfde partye op die verskillende 

(i) Die Grondwet moet voorsicning mask dat die regte van individue en 
bevolkingsgroepe beskerm word. Dit moet voldoende vryheid laat dat, veral, 

die kultuurgoedere en godsdiens van die verskillende bevolkingsgroepe 

behoue bly, ontwikkel en uitgebou kan word. Dit is verder uiters belangrik 

dat die taalregte nie afgeskeep word nie. 

Suid-Afrikaners kan net vrede en goeie menseverhoudings geniet indien ons 

respek vir mekaar se lewens, besittings, kultuur en godsdiens betoon. 

(iii) Ons wette en regstelsel moet agting afdwing en moet misdaad voorkom en 

ontmoedig. 

Vriendelike groete 

MA'ITW 

k/17 
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2179 " 7 Tuinfluiter St 
BIRCH ACRES 

1619 

21st Feb’ 1995 

The Chief Executive 
Constitutional Assembly 

P O Box 15 
CAPE TOWN 

Dear Sir 

RE: VOTER REGISTRATION VERSUS RIGHTS OF TRADITIONAL LEADERS 

| did not have the correct heading for the problems that we experience as civics 

here in the Eastern Transvaal and the highveld, but nevertheless, after | had 

highlighted my grievances of our villages, during your debate on the country’s 

Constitution, high attention will e paid to ordinary villagers and their traditional 

leaders. 

Firstly let me bring it to your attention that | write this message as a resident of 

Moutse 3. What is naturally being experienced here at Moutse 3 is virtually 

experienced in Moutse 2 and 1 and also at other villages under headman, Chiefs 

or Captain, whatever term you use. 
(End of page 1) 

Secondly the other issue of my concern is that 30 - 40% of our villages have no 

ID’s to register as voters. We are receiving a negative attitude from our traditional 

leaders because they feel that their positions are threatened. 

1. They do not encourage their so-called subjects to find it easy to obtain ID 

books. The same problem is experienced by the home affairs departmental 

heads (confirmed). 

2. Villages are refused to hold free gatherings either at local schools or home 

affairs offices. 

3. When home affairs call on them to arrange a day or two to visit their 

respective areas as to issue ID’s they do not inform (confirmed). 

4. Because traditional leaders fear for their safety and security of their 

positions, a clear message should be send and Constitutionalised as to 

differentiate their duties (traditional leaders) and those of civics. 

5t Most traditional leaders are spreading the gospel of not registering for local 

elections to their subjects (confirmed). 
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6. The civics though they are being elected by the respective residence, the 

traditional leaders refuse to work and recognise the civic members and in 

some other instances are being threatened as to be evicted in their 

homelands. 

743 The last, not the least, big issue is the problem of old age pension pay 

points. A lot has been said and televised about the pay points of pensioners 

in the urban areas but very. little attention is paid to the homeland 

pensioners. 

8. Solution to the pensioners pay packet is that it should be compulsory that 

each have a Savings Account with either a Post office or a banking 

institution so that they can collect them at their own time with their ID’s 

handy to be produced when needed. 

9. Village residents would like to earn the pieces of ground they live in, either 

in the form of title deeds or otherwise so that they can be in control of their 

own grounds. Ground should not be that expensive, preferably similar to 

that of the old Bophuthatswana suburbs e.g. Malopane etc. 

Hoping that what has been raised in here would end up at the right Constitutional 

group for submission. 

Yours faithfully 

(SGD) PETER MAATHLO 
TEL (011) 976-5845 
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WATER AFFAIRS | @e-ez-ss 12117 FAX 0027 21 241160 
\213 

CONSTITUTI Dr. G. Ngirane ASSEMBL?(M POB: 50423 
LBy 7 0 FER 1395 Botswena 

| TelFax (267) 324 633 
007625 Nl 20th February 1995 The Secretariat _ rnd Constitutional Assembly 9 P.O. Box 15 

Cape Town 8000 

RE: SUBMISSIONS TO THE CONSTITUTIONAL ASSEMBLY 
lmahwwmnlmwmymmm"mefl,m corect me and proceed to submit them. 

Theme | () Mu'fipanydemocmcylhoudbem‘sutnawanotml Mmmnmwhwazammofldmm ¥ wmnawoek.Amwrimwmaommmm-mm PO nmmmwmummasmmm e W,ummmmmmmw & 1Msimmmmmn.mmpdgnmwwy 

() Proportional representation should be retained but modified as follows: 

- Msmwmmum»mwm constituency and the winner should go to National or State Pufiamentmpresenfingmtmuarmmmy. 

wmmwmm,mmw-ym.mm nafiorummmamemawulhavoasmmy paniamemariansaslhenumberofeonsfihmdespluemw 

Tmswilln\aksmepeopleknowmeirMPswhuoathumo fimefivnchaneetosmanpenies!obempmsomaunafionalw 

-1 ofe 
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Dr G Noirane's Submission b the CA 

state level. 

(1) National and Provincial/State Parliaments shouid last 6 years but half ofmopafliammfimlnouldbevmodlnwuysym. 
(v} The President with his 1noeputymabeuocteqlr\dependenuy mwsym.mzmoammmmmumum- Prime Minister shwldbuMembordPufianun, and shouid come 

President should serve a maximum of three 8-year terms, i.e. the 
(v) The 

Prasidemwlmmsm_ermbeputmefldemshwldbeo_lectedfora 

(vi) msmmm;wmammunddxm(m. The 

from the majority party. Hmwfimsmmnmm of the State Parfiament mmdrtonnofsewieehasuxpimd. Ilthelrpunysfllvotadtfmln. 

  

above 21 yrs for local councils; 
above 25 yrs for provinclal/state & national assembilies; a!?ovsaomvamvindallltatepremiers, cabinet 

Tm’sIsloensummatoveniisomeoneisoflgiblemvoie. it may be years before he/she gains sufficient experience to Mmaneage a public oflice.TMSshouldalsodispdtfwldeatfxatbeflusemcanvmo menhelshecanalsomnforupubucofhce. It must be implied in the 
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Or G Noirane's Submission to the CA 

consmwmhatmumbenartescharhmamfieneehfih. 
Theme Il (1) Provincial/State Ministers should be known as such instead of using the meaningiess MEC. The Provincial/State Government should have Provincial/State Premier (with abbreviated designation as PP/SP), Provincial/State Govemment Ministers (with abbreviated designation 

abbreviated designation as PMP/SMP).  Calling them MEC undermines and diminishes their position in the Province/State. 
(i) Prwlpces should be called States since are really mini-states. 

General: () Capital punishment should be retsined, The fact that it was 

beenhopedvmenlhemhnotmucherimemm then this I8sue can be revisited. It seems that the criminal has more rights than the victim, 
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©Or G Ngrane's Submission b the CA 

(i) ThoTnmCornmiulonshouldaddrmaimuorh mmhnmmmmmhml(mm 

8ub-Theme 
Public Admini, The Pubbc Service department should not continue to be a 

Amanmmewofldmwatd'ingsummmammmlwmdm, 
right, fair, self-correcting, etc. will Ppersevere. 

Thank you for reading this. 

Dr G Ngirane (PhD, Chatered Engineer, PrEng) 

~J4of 4 
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Dater. 22/ 22 e 

The Executive Director 
. The Constitutional Assembly 

PO Box 15 
Cape Town 
8000 

I request that the following views be made known to the Executive Director of the 
Constitutional Assembly. 

Responsibilities of Government 

To protect life, liberty and property by the punishment of evildoers and by 
rewarding those who do good. 

Weapons 

Any attempt to disarm civilians is to disempower them and centralise power in 
the hands of government. It also presupposes the naive belief that weapons are 
the problem instead the criminal and that, by disarming the public, the criminals 
will also be disarmed. It is the nature of criminals to scoff at the law and it is the 
dream of the criminal to hold a disarmed public to ransom. To promise that the 
professional police and militia will guarantee the safety of every member of 
society, having removed from them the right and the power to defend 
themselves, is not only a lie, but tyranny. 

Criminals interviewed have confessed that, in most cases, they would not have 
‘assaulted their victims had they suspected that they were armed. Proof of their 
effectiveness in responsible hands is the testimony of a Hillbrow social worker 
who has been delivered no less that 5 times from hoodlums, by armed members 
of the publ:c passing by. 

By all means, restrict the type of weapons available to the public and encourage 
the developmenl of non-deadly weapons, but do not remove from the public the 
right and power to exercise self defense 

Yours faithfully in the service of South Africa. 

2 

66 

  

 



   
The Executive Director 
The Constitutional Assembly 
PO Box 15 
Cape Town, 8000 

| request that the following views be made known to the Executive Director of the 
Constitutional Assembly. 

Responsibilities of Government 

To protect life, liberty and property by the punishment of evildoers and by rewarding 
those who do good. 

Free Market, Press, Religion and Schools. 

These are areas which must be under the direct control of the individual, the family and 
the church/religious institution with no govemment interference. The only role that the 
govemment should play is legislation, which protects equal opportunity, liberty and 
property of the individuals operating within those spheres. 

A free market economy is the natural product of the ideals of liberty. Components of a 
free market economy include private property rights, individual enterprise and a free 
market. Government must protect the free market by punishing theft and fraud and by 
enforcing contracts that were entered into freely. 

A free press is essential to a free society. Should the liberty of the press be removed, 
then all that remains to be expected is padlocks on our lips, chains on our legs and 
hands free only to do the will of our task masters. However, public liberty will not 
survive the loss of public vitue. To permit material which undermines the virtue of a 
society is the beginning of suicide. 

Freedom of religion and the expression thereof is important. Toleration of differing 
ideas is central to a democratic society provided that those ideas and actions are not of 
a criminal, subversive or immoral nature. 

Freedom of education is rooted in the freedom of parents to raise their children 
according to their beliefs. The home for any child is the first church, the first school, the 
first business, and the first govemment. The school must be an extension of the home 
with the liberty to operate as the parents dictate. 

Yours faithfully in the service of South Africa 

B 
Aclel Shernst 
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The Executive Director 
The Constitutional Assembly 
PO Box 15 
Cape Town 
8000 

| request that the following views be made known to the Executive Director of the Constitutional Assembly. 

Responsibilities of Govenment 

To protect life, liberty and property by the punishment of evildoers and by rewarding those who do good. 

Division into Three Functions of Government. 

Government must have the power to control the governed but also be itself controlled. Due to the tendency that power has to corrupt,  legitimate Pparameters must control the exercise of that power. 

* Separation of governmental powers into different branches with no persons serving in more than one branch at the same time; ie: a division of functions and personnel between the legislative, executive, and judicial departments. No one branch should have total control over another but the branches should work together through a system of checks and balances. 

* A court system independent of the executive or legislative branch with trials by jury. 

Yours faithfully in the service of South Africa 

A'\—\CLJ. M 
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The Executive Director 
The Constitutional Assembly 

PO Box 15 
8000 

Dear Sir/Madam 

Education & the Constitution 

1 am a christian and as we live in a country where the predominant religion is christianity I 

believe that our constitution should be based on the Bible and the way it prescribes 

edycation. 

1) The State should only set minimum standards for simple mathematics and reading and 

writing a language. 

2) Other subjects should be determined by the parents of the children and tertiary 

educational institutions. 

3) Children have a right to education and this means learning a trade that will make them 

financially independant. Schools should not be purely academic. They should be practical 

and should produce children who can contribute to society. 

4) Headmasters and teachers should be appointed in consultation with the parents of the 

children attending the school. Schools controled by the comunity will produce children who 

respect the comunity. 

Thank you for taking the time to read this letter. 

Yours faithfully 

fi— 

Anclvre Stemunet 
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The Executive Director 
The Constitutional Assembly 
P O Box 15 
Cape Town 
8000 

| request that the following views be made known to the Executive Director of the Constitutional Assembly. 

Responsibilities of Government 

To protect life, liberty and property by the punishment of evildoers and by the rewarding of those who do good. 

Government Funding 

Moses, arguably the greatest law-giver of all history, declared that God required a tenth of every man's increase for the fulfillment of proper government in the nation. This tax would support the civil service, the welfare and the educators under the oversight of the spiritual leadership, who were in tum answerable to the constitution (God'’s word) and the congregation/people. Samuel, one of the greatest prophets of history, wamed the nation that, if they departed from God's requirement and chose a form of government outside of God's order, it would become an oppressive burden, both financially and in many other ways (Samuel 8:5-22). 

Current estimates are that some 78% of all generated income eventually lands up in the government coffers through its many forms of taxation. This is indeed oppressive, and a sure indication that the govemment is involved in far more activities than it should be. It undermines the moral of the eamer, discourages investment and by degree, cuts the hand that feeds it. It also causes the “have-nots” to encourage the government to play “Robin Hood" and to be their provider from the cradle to the grave - a role that the govemnment was never intended to play, and an attitude that will plunge South Africa into typical African despair. 

The taxing power of the govemment should be restricted for uses specifically enumerated in the constitution. Deficit spending should only be allowed in emergencies as it is inflationary; the subtie way the govemment “steals” money from the citizens. The only one to benefit from inflation is the first one to spend the money ie:  the government. It is a hidden form of tyrannical taxation because as the 

& 
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Income Tax (Personal or Corporate) to 10% 

Abolish property tax as no government, unless it considers itself to be God, owns any 
land except that for which it has acquired by fair compensation for its purposes. To 
have a property tax implies that all land belongs to the govemment and that it rents it 
out to its citizens. To not pay rent (tax) is to be evicted - a form of tyrannical theft. 

Abolish inheritance tax because since when must the fruit of a man's labour be 
removed from him at death before going to his children, his legitimate heirs? On what 
basis can a government, who taxed the individual all his life, now rob his children of 
their inheritance upon his death? 

The implication of this is that the government gets less revenue, but according to the 
biblical description of the role of govemment, the govemment is much smaller and 
devotes itself to its legitimate functions under God, namely defence, justice and 
keeping the peace. The market place, religion, welfare (heaith and other) and 
education should all be outside of the govemment's direct responsibility. 

Yours faithfully in the service of South Africa 

@ =7/2)t5 
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The Secretariate 
Constitutional Assembly 
POBox 15 
Cape Town, 
8000 

To Whom It May Concem, 

The Right To Lif 

| would like to request that my views be made known to the committee debating the issue of abortion 
on demand. | am totally against abortion for the following reasons: 

1. Life begins at conception. From this point the baby is a unique individual, separate from the 
mother, and needs only nourishment and an appropriate environment for survival - the same 
needs as a toddler, teenager or adult. 

2. The rights of the mother cannot be imposed over the rights of the child, especially when one talks 

about the right to live versus the right to maintain a certain lifestyle. 

3. The common argument for aborion as a solution to overpopulation is emoneous. 

Overpopulation is often blamed for other problems, such as mismanagement, greed, wars, lack of 
technology, superstition, wastage and corruption. A child is not merely another mouth to feed, but 
also has a head to think and hands to work. 

4. Many women do suffer trauma in back street abortions, but they can also suffer in legal 
abortions. Abortion is always fatal for the baby, so legalizing the killing process in order to make it 
less hazardous is no logical argument at all. 

5. Aside from physical complications, there is the psychological trauma which affects the baby's 
mother, father, grandparents and siblings. "Postabortion Syndrome® is a diagnosable 
psychological affliction. 

6. Inthe event of a mother cammying a handicapped baby, the child still has the right to live, just as a 
handicapped adult has the right to live. Handicapped children are not always social liabilities, just 
as "normal” children are not always social assets. 

7. In the rare circumstances that a child is conceived through rape or incest, the child is not at fault 
and therefore cannot be punished. Killing the child does not lessen the trauma to the mother. 

God commands us to “defend the cause of the weak and fatherless, maintain the rights of the poor 
and oppressed. Rescue the weak and the needy, deliver them from the hands of the wicked. (Psalm 
82:3-4) "The shedding of innocent blood defiles and pollutes the land and its people (Numbers 35:33) 
Have we not had enough bloodshed in South Africa? With the advent of a new country, a new 
constitution and a new hope for peace, it is time for the killing to stop. 

The role of the State should be in supporting endeavours that practically care for those who are in a 
crisis situation due to an unplanned pregnancy. Abortion is no answer. 

Yours faithfully in the service of South Africa 

O gliid ST 
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Date:...?:.?./.?—../.?fi ................... 

The Executive Director 
The Constitutional Assembly 
PO Box 15 

Cape Town 
8000 

| request that the following views be made known to the Executive Director of the 

Constitutional Assembly. 

Responsibilities of Government 

To protect life, liberty and property by the punishment of evildoers and rewarding 

those who do good. 

Election of Representatives 

Elections should be frequent to ensure strict accountability. 
They should be free so that representatives can win the battle in the free 
market place of ideas. 

o There must be a commitment to the peaceful transition and relinquishing of 
power by the previous office holders. 

e To prevent majority tyranny and ensure more healthy gradual change, 
portions of the legislative and executive branches, both regionally and 
nationally, should be up for elections on different years. This would enable 
the potential consequences of change to be fully appreciated by the 
electorate. 

Yours faithfully in the service of South Africa 

8 
{‘;V\Cl"‘f«l 5}6“’“’\4} 
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The Executive Director 
The Constitutional Assembly 
PO Box 15 
Cape Town 
8000 

| request that the following views be made known to the Executive Director of the Constitutional 
Assembly. 

esponsibilities of Government 

To protect life, liberty and property by the punishment of evildoers and by rewarding those who 
do good. 

The Death Penalty 

Since the moratorium on capital punishment was enacted, murderers have inflicted the death 
penalty on over 75000 victims in South Africa. South Africa has a murder rate 1000% higher 
than that of the United States. Namely 95 victims to 100000 compared to 9 victims per 100000. 
Many countries in the world today still practice capital punishment. 

The bible speaks God's mind on the issue: 

Gen 9:6 " Whoever sheds the blood of a man by man his blood shall be shed for in the image of 
God has God made man" 
“"Anyone who strikes a man and kills him shall surely be put to death...." 
“If any man schemes and kills another man deliberately take him away from my alter and put 
him to death.” 
Exodus 21:12-14, Leviticus 24:17 Numbers 35:33 
Capital punishment is not a matter of personal choice, opinion pole or court decree. It is God's 
requirement. Furthermore, God has delegated the responsibility to execute murderers to Civil 
Govemment. It is God's requirement for justice. Romans 13:4 says "For he (the civil authority) 
is God's servant to you for good. But if you do wrong, be afraid for he does not bear the sword 
for nothing. He is God's servant, an agent of wrath to bring punishment on the wrongdoer”. 

To summarise : 
1) A person who willfully takes the life of another must pay for that act by forfeiting his own life. 
2) The death penalty is to be exercised by civil govemment after the due process of trial and 

not by arbitrary groups or individuals. 
3) It must be done to uphold the sanctity of human life. 

If we want to see healing in our land we must have biblical principles in operation in the 
constitution and in society at large. Bloodshed pollutes the land and the only way to cleanse the 
land is by applying capital punishment as a deterrent and the correct punishment for murder. If 
we obey God in this regard, we will see the land cleansed justice for the victim and his/her 
family restored and righteousness prevailing in the land. 

| have limited my discussion to capital punishment for murder specifically . 

Yours Faithfully in the service of South Africa 

% 
AV\C’W’ 5)—u~\w~v{' 
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The Executive Director 
The Constitutional Assembly 
PO Box 15 
Cape Town, 8000 

| request that the following views be made known to the Executive Director of the 
Constitutional Assembly. 

Responsibilities of Government 

To protect life, liberty and property by the punishment of evildoers and by rewarding 
those who do good. 

Police and Militia. 

Military and police power is necessary in society to protect the innocent from criminals 
and enemies, both foreign and domestic. However to prevent abuses, the civil 
govemment must have authority over this power. 

Police and militia must be under civilian government control. The police force should be 
locally and regionally controlled and completely separate from military power. The head 
of the police forces should be elected and govemed by local government. 

The majority of the nation’s army should be ordinary working people who can be called 
together quickly. Army leadership must be separate from the executive branch of 
government. A small peace time professional ammy should be maintained which, in the 
case of war or large scale civil disobedience, would lead the militia in overall military 
strategy. However, the militia divisions should have their own locally elected officers. 
The members of the militia would supply their own weapons or will be issued them by 
civil authority when under threat. This presupposes the right of every person to possess 
his own wedpon in the exercise of his right to protect his life, liberty and property and 
that of his néighbour, when called upon to do so. 

Yours faithtully in the service of South Africa 

VAGEY Sevnng f 
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The Executive Director 
The Constitutional Assembly 
PO Box 15 
Cape Town 
8000 

I request that the following views be made known to the Executive Director of the 
Constitutional Assembly. 

Responsibilities of Government 

To protect life, liberty and property by the punishment of evildoers and by 
rewarding those who do good. 

Weapons 

Any attempt to disarm civilians is to disempower them and centralise power in 
the hands of government. It also presupposes the naive belief that weapons are 
the problem instead the criminal and that, by disarming the public, the criminals 
will also be disarmed. It is the nature of criminals to scoff at the law and it is the 
dream of the criminal to hold a disarmed public to ransom. To promise that the 
professional police and militia will guarantee the safety of every member of 
society, having removed from them the right and the power to defend 
themselves, is not only a lie, but tyranny. 

Criminals interviewed have confessed that, in most cases, they would not have 
jassaulted their victims had they suspected that they were armed. Proof of their 
‘effectiveness in responsible hands is the testimony of a Hillbrow social worker 
wHo has been delivered no less that 5 times from hoodlums, by armed members 
of the public passing by. 
Pl 

By'all:meaps, restrict the type of weapons available to the public and encourage 
the develcigmen! of non-deadly weapons, but do not remove from the public the 
right and power to exercise self defense 

Yours faithfuliy in the service of South Africa. 

Pnat 
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The Executive Director 
The Constitutional Assembly 
PO Box 15 
Cape Town, 8000 

| request that the following views be made known to the Executive Director of the 
Constitutional Assembly. 

Responsibilities of Government 

To protect life, liberty and property by the punishment of evildoers and by rewarding 
those who do good. 

Police and Militia. 

Military and police power is necessary in society to protect the innocent from criminals 
and enemies, both foreign and domestic. However to prevent abuses, the civil 
government must have authority over this power. 

Police and militia must be under civilian government control. The police force should be 
locally and regionally controlled and completely separate from military power. The head 
of the police forces should be elected and govemned by local govemment. 

The majority of the nation’s army should be ordinary working people who can be called 
together quickly. Army leadership must be separate from the executive branch of 
govemment. A small peace time professional amy should be maintained which, in the 
case of war or large scale civil disobedience, would lead the militia in overall military 
strategy. However, the militia divisions should have their own locally elected officers. 
The membefs of the militia would supply their own weapons or will be issued them by 
civil authority when under threat. This presupposes the right of every person to possess 
his own wedpon in the exercise of his right to protect his life, liberty and property and 
that of his néighbour, when called upon to do so. 

Yours faithtully in the seryice of South Africa 

\_945«.«: 
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The Executive Director 
The Constitutional Assembly 
PO Box 15 
Cape Town 
8000 

| request that the following views be made known to the Executive Director of the Constitutional 
Assembly. 

Responsibilities of Government 

To protect life, liberty and property by the punishment of evildoers and by rewarding those who 
do good. 

The Death Penalty 

Since the moratorium on capital punishment was enacted, murderers have . inflicted the death 
penalty on over 75000 victims in South Africa. South Africa has a murder rate 1000% higher 
than that of the United States. Namely 95 victims to 100000 compared to 9 victims per 100000. 
Many countries in the world today still practice capital punishment. 

The bible speaks God's mind on the issue: 

Gen 9:6 * Whoever sheds the blood of a man by man his blood shall be shed for in the image of 
God has God made man*® 
"Anyone who strikes a man and kills him shall surely be put to death...." 
°If any man schemes and kills another man deliberately take him away from my alter and put 
him to death.” 
Exodus 21:12-14, Leviticus 24:17 Numbers 35:33 
Capital punishment is not a matter of personal choice, opinion pole or court decree. It is God's 
requirement. Furthermore, God has delegated the responsibility to execute murderers to Civil 
Govemnment. It is God's requirement for justice. Romans 13:4 says "For he (the civil authority) 
is God's servant to you for good. But if you do wrong, be afraid for he does not bear the sword 
for nothing. He is God's servant, an agent of wrath to bring punishment on the wrongdoer”. 

To summarise : 
1) A person who willfully takes the life of another must pay for that act by forfeiting his own life. 
2) The death penalty is to be exercised by civil govemment after the due process of trial and 

not by arbitrary groups or individuals. 
3) It must be done to uphold the sanctity of human life. 

If we want to see healing in our land we must have biblical principles in operation in the 
constitution and in society at large. Bloodshed poliutes the land and the only way to cleanse the 
land is by applying capital punishment as a deterrent and the correct punishment for murder. If 
we obey God in this regard, we will see the land cleansed Justice for the victim and his/her 
family restored and righteousness prevailing in the land. 

| have limited my discussion to capital punishment for murder specifically . 

Yours Faithfully in the service of South Africa 

ot 
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The Executive Director 
The Constitutional Assembly 
PO Box 15 
Cape Town 
8000 

| request that the following views be made known to the Executive Director of the 
Constitutional Assembly. 

Responsibilities of Government 

To protect life, liberty and property by the punishment of evildoers and rewarding 

those who do good. 

Election of Representatives 

¢ Elections should be frequent to ensure strict accountability. 

e They should be free so that representatives can win the battle in the free 
market place of ideas. 

e There must be a commitment to the peaceful transition and relinquishing of 
power by the previous office holders. 

e To prevent majority tyranny and ensure more healthy gradual change, 
portions of the legislative and executive branches, both regionally and 
nationally, should be up for elections on different years. This would enable 
the potential consequences of change to be fully appreciated by the 
electorate. 

Yours faithfully in the service of South Africa 

fin»«:& 
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The Secretariate 
Constitutional Assembly 
POBox 15 
Cape Town, 
8000 

To Whom It May Concem, 

The Right To Life 

1 would like to request that my views be made known to the committee debating the issue of abortion 
ondemand. | am totally against abortion for the following reasons: 

15 Life begins at conception. From this point the baby is 5 unique individual, separate from the 
mother, and needs only nourishment and an appropriate environment for survival - the same 
needs as a toddler, teenager or adutt. 

The rights of the mother cannot be imposed over the rights of the child, especially when one talks 
about the right to live versus the right to maintain a certain lifestyle. 

The common argument for abortion as a solution to overpopulation is emoneous. 
Overpopulation is often blamed for other problems, such as mismanagement, greed, wars, lack of 
technology, superstition, wastage and corruption. A child is not merely another mouth to feed, but 
also has a head to think and hands to work. 

Many women do suffer trauma in back street abortions, but they can also suffer in legal 
abortions. Abortion is always fatal for the baby, so legalizing the killing process in order to make it 
less hazardous is no logical argument at all. 

Aside from physical complications, there is the psychological trauma which affects the baby's 
mother, father, grandparents and siblings. "Postabortion Syndrome" is a diagnosable 
psychological affiiction. 

In the event of a mother canrying a handicapped baby, the child still has the right to live, just as a 
handicapped adutt has the right to live. Handicapped chikdren are not always social liabilities, just 
as "normal” children are not always social assets. 

In the rare circumstances that a child is conceived through rape or incest, the child is not at fault 
and therefore cannot be punished. Killing the child does not lessen the trauma to the mother. 

God commands us to "defend the cause of the weak and fatherless, maintain the rights of the poor 
and oppressed. Rescue the weak and the needy, deliver them from the hands of the wicked. (Psalm 
82:3-4) "The shedding of innocent blood defiles and pollutes the land and its people (Numbers 35:33) 
Have we not had enough bloodshed in South Africa? With the advent of a new country, a new 
constitution and a new hope for peace, it is time for the killing to stop. 

The role of the State should be in supporting endeavours that practically care for those who are in a 
crisis situation due to an unplanned pregnancy. Abortion is no answer. 

Yours faithfully in the service of South Africa 

R 
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The Executive Director 
The Constitutional Assembly 
P OBox 15 
Cape Town 
8000 

| request that the following views be made known to the Executive Director of the Constitutional Assembly. 

Responsibilities of Government 

To protect life, liberty and property by the punishment of evildoers and by the rewarding of those who do good. 

Government Funding 

Moses, arguably the greatest law-giver of all history, declared that God required a tenth of every man'’s increase for the fulfillment of proper government in the nation. This tax would support the civil service, the welfare and the educators under the oversight of the spiritual leadership, who were in tumn answerable to the constitution (God's word) and the congregation/people. Samuel, one of the greatest prophets of history, wamed the nation that, if they departed from God's requirement and chose a form of government outside of God's order, it would become an oppressive burden, both financially and in many other ways (Samuel 8:5-22). 

Current estimates are that some 78% of all generated income eventually lands up in the govemment coffers through its many forms of taxation. This is indeed oppressive, 

The taxing power of the govemment should be restricted for uses specifically enumerated in the constitution. Deficit spending should only be allowed in emergencies as it is inflationary; the subtle way the government “steals” money from the citizens. The only one to benefit from inflation is the first one to spend the money ie: the govemment. It is a hidden form of tyrannical taxation because as the govemment spends more and more money it doesn’t have, created out of thin air, the purchasing of the citizens’ bank account declines. 
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Income Tax (Personal or Corporate) to 10% 

Abolish property tax as no govemment, unless it considers itself to be God, owns any 
land except that for which it has acquired by fair compensation for its purposes. To 
have a property tax implies that all land belongs to the govemment and that it rents it 
out to its citizens. To not pay rent (tax) is to be evicted - a form of tyrannical theft. 

Abolish inheritance tax because since when must the fruit of a man's labour be 
removed from him at death before going to his children, his legitimate heirs? On what 
basis can a govemment, who taxed the individual all his life, now rob his children of 
their inheritance upon his death? : 

The implication of this is that the govemment gets less revenue, but according to the 
biblical description of the role of govemment, the govemment is much smaller and 
devotes itself to its legitimate functions under God, namely defence, justice and 
keeping the peace. The market place, religion, welfare (health and other) and 
education should all be outside of the goverment’s direct responsibility. 

Yours faithfully in the service of South Africa 

Fence 
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The Executive Director 
The Constitutional Assembly 
PO Box 15 
8000 

Dear Sir/Madam 

Education & the Constituti 

1 am a christian and as we live in a country where the predominant religion is christianity I 
believe that our constitution should be based on the Bible and the way it prescribes 
education. 

1) The State should only set minimum standards for simple mathematics and reading and 
writing a language. 

2) Other subjects should be determined by the parents of the children and tertiary 
educational institutions. 

3) Children have a right to education and this means learning a trade that will make them 
financially independant. Schools should not be purely academic. They should be practical 
and should produce children who can contribute to society. 

4) Headmasters and teachers should be appointed in consultation with the parents of the 
children attending the school. Schools controled by the comunity will produce children who 
respect the comunity. 

Thank you for taking the time to read this letter. 

Yours faithfully 
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The Executive Director 
The Constitutional Assembly 
PO Box 15 
Cape Town 
8000 

| request that the following views be made known to the Executive Director of the Constitutional Assembly. 

Responsibilities of Government 

To protect life, liberty and property by the punishment of evildoers and by rewarding those who do good. 

Division into Three Functions of Government. 

Government must have the power to control the governed but also be itself controlled. Due to the tendency that power has to corrupt, legitimate Pparameters must control the exercise of that power. 

* Separation of governmental powers into different branches with no persons serving in more than one branch at the same time; ie: a division of functions and personnel between the legislative, executive, and judicial departments. No one branch should have total control over another but the branches should work together through a system of checks and balances. 

* A court system independent of the executive or legislative branch with trials by jury. 

Yours faithfully in the service of South Africa 

St 
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The Executive Director 
The Constitutional Assembly 
PO Box 15 
Cape Town, 8000 

| request that the following views be made known to the Executive Director of the Constitutional Assembly. 

Responsibilities of Government 

To protect life, liberty and property by the punishment of evildoers and by rewarding those who do good. 

Free Market, Press, Religion and Schools. 

THese are areas which must be under the direct control of the individual, the family and the church/religious institution with no govemment interference. The only role that the govemment should play is legislation, which protects equal opportunity, liberty and property of the individuals operating within those spheres. 

A free market economy is the natural product of the ideals of liberty. Components of a free market economy include private property rights, individual enterprise and a free 

A free press is essential to a free society. Should the liberty of the press be removed, then all that remains to be expected is padlocks on our lips, chains on our legs and hands free only to do the will of our task masters. However, public liberty will not survive the loss of public vitue. To permit material which undermines the virtue of a society is the beginning of suicide. 

Freedom of religion and the expression thereof is important. Toleration of differing ideas is central to a democratic society provided that those ideas and actions are not of a criminal, subversive or immoral nature. 

Freedom of education is rooted in the freedom of parents to raise their children accordlqg to their beliefs. The home for any child is the first church, the first school, the 

Yours faithfully in the service of South Africa i 
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PO Box 994 
Lydenburg 

1120 
3 Feb. 1995 

To the Constitutional Assembly 

On TV and in the press you invited the ordinary citizen to make a contribution. As an 

ordinary citizen of the new RSA I would like to mention a few things I have thought about. 

1. 

8. 

Firstly we must all climb in and work. We must look ahead. Forget what lies 

behind and build towards the future. 

Strikes must be combatted. It ruins the economy and wastes a lot of money and time. 

Economising, even at government-level. We need a lot of money for schools, 

hospitals and houses. If the economy recovers overseas investors will come by 

themselves. It is not necessary to travel around so much to beg. 

Affirmative action must take place more gradually. Theoretical knowledge alone is 

not enough. People must get experience before they can stand in management and 

responsible posts. 

Promotions and appointments must occur on merit. 

We would like to see that Afrikaans retains its rightful place, especially in the media. 

The death penalty must be reinstated e.g. for planned murder and child rape. 

Proper voters’ lists must be drafted. 

(These are but a few ideas) 

Thank you very much 

(Mrs) T Steenkamp 
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5 CONSTITUTIONAL 

ATTENTION : CONSTITUTION ASSEMBLY Ly 
EXECUTIVE DIRECTOR 
P.0. Box 15 0 1 MAR 1395 
CAPE TOWN 8000 

FROM : Mrs. Alicia Steiner TEL : (0Oll) 782-0444 
. P.O. Box 927 FAX 7T (OII)—782-5169 

Pinegowrie 2123 

« DATE : 14 February 1995 

SUBJECT : I MADE MY MARK NOW HERE'S MY SAY 

1. The right of the public to initiate a referendum. 

Should 5% of the voting public wish to initiate a referendum 
whether it be a ward matter on a local issue or country-wide 
on a national issue. 

2. The right of the people to recall an elected servant/representative. 

All elected representatives of the people to sign a contract 
to agree to step down from office should 15% of the 'polled 
voting public' in that area so request. An election to take 
place within 3 months and the representative in question 
may stand again. 

3. The right of the people to have access to their “Gounciliors 
and MP's with regular monthly surgeries with local communities; 
government cannot remain so aloof and far from the public. 

4. The right of women to have access to female assistance in 
all aspects of life. 

i.e. A minimum 50% intake in all educational establishments 
for training in any sphere of life from politicians 
to doctors, from teachers to corporate directors. 
All gynocologists to be female. More female police, 
more female operated crisis centres, female doctors, 
female financial advisers, female attorneys etc. 

5. The right of a woman to choose her fertility options. 
No woman willingly wants an abortion; it is always a 
last resort, whatever her status in life. Please remove 
this attitude that women are queuing up for abortions as 
if it is a trip to the hairdresser. Do not dare to play 
God and deny a woman's right to this last resort of abortion, 
especially since you are a male-dominated body and already 
unconstitutional by not reflecting 50% of the population, 
the female half which is crucial to the survival of the species. 

. 6. No secret 'in camera' meetings at any level; The right 
to access information is crucial. 

THE ABOVE CONSTITUTES MY SAY i /7 p 
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     R. K. STOEKS 
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P 442 Clark St, Waterkloof, Pretoria, 0181  (Tel. 46-7319) South 
tephyde Valley Farm, Franspoort Pretoria  (Tel. Ba=+48)8¢F-3/7 3 

Clark Street. S Sradts hvonvs, For Al 6170 (ol 4-1677) Africa 

In reply please quote Ref. EA/_R_KS'._._.._... 00 ’ 4 02 1995 02 06 

The Executive Director, 

Constitutional Assemly, A EC/’TERED 

P.O.Box 15, OONSMMONAL 

8000, CAPE TOWN. ASSEMBLY 

14 FER 1995 
Dear sir, 

re: CONSTITUTION MATTERS. 

1 enclose a copy of my propsals originally submitted to Mr. P.W.Botha and Mr. Chris 

Heunis in the mid-eighties. President F.W.de Klérk also received a copy, as did 

some other past and present Cabinet Ministers and Mr. Mandela, before the "election” 

The highly condensed document is little more than an illustration of principles, and 

experience has shown that few people, especlally if they have been indoctrinated 

with popular political views, are able at first to comprehend the principles. However, 
careful study by persons of sufficient intellect, experience and imagination, will show 

that, at the least, they cover most of the ground. 

Unlike most other systems, such as equal vote democracy for example, my proposals 

conform to FUNDAMENTAL principles of justice, law, Principle, economics and 

evolution. 

1 am reasonably sure that, given the restrictions touched on in my second paragraph, 

as well as others, my proposals will not be accepted, or even, at first, understood 

by your Assembty. However, in accordance with the principles in Acts chapter 13, 

verse 46, as stated in my letter to Mr. Mandela ref. C4/RKS dated 1994 04 07, I feel 

it necessary to put them to you. Our present course leads to ultimate disaster. 

I shall be happy to elaborate at a convenient time and place. For those to whom it 

means anything, I am "R.K." 

      Yourg faithfully, 

'R.K.STOCKS. 
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R. K. STOLCKS 

FBIM, MSAIM, LIFEIPM, MSAIW, MSAIR. 

r = 442 Clark St, Waterkioof, Pretonia, 0181 (Tel. 46-7319 |[th 

essairephy o) Gem Valley Farm, Franspoort, Pretoria (el 803-3!33: So 3 
19 Stocks Avenue, Port Alfred, 6170 (Tel. 4-1677) Africa 

August 1986 

     
     

  

in reply please quote Ref. ... E:3/RKS_.. 

SOUTH AFRICAN CONSTITUTION ARRANGEMENT . 

PREL IMINARY OUTLINE OF PROPOSED NEW PARLIAMENTARY 

REPRESENTATION SYSTEM 

    

ideas expressed in correspondence with the 

(An expansion of the 

State Fresident and the Minister of Constitutional [evelopment 

and Flanning - August 1985 to June 1986.) 

Any new scheme such as this should be of an experimental and 

progressive nature, in accordance with my much earlier statement, 

as follows: 

“No human mind, or body of human minds, can even comprehend 

the intricacies of the South African social, economic and 

political situation, let alone furnish immediate solutions 

to our problems, or accurately foresee the precise direction 

we should take. 

From this it follows that the only course we can logically 

take is to proceed with reforms, new ideas etc., a step at a 

time, headed in the direction which appears to be the right 

one, based on our apprehension of the current circumstances 

and conditions as appears from available i1nformation, and to 

be prepared to alter course, slightly or radically, or even 

to retrace our steps, should such action appear necessary or 

advisable." 

It should also take account of the fact that there are too few 

blacks at this stage with a proper mandate as well as the 

necessary knowledge, understanding, experience and maturity, to 

allow satisfactory negotiation. 

In addition, the negotiation process is slow and long drawn out, 

and we do not have that sort of time available. 
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‘Three 1mportant priciples involved in these proposals «re: 

1. The need to recognise and accommodate differences among 

people of different races, backgrounds, training, etc., 

but not to allow these differences to become obstacles 

or barriers to mutual co-operation. 

2. A basic principle of taxation - that taxes should be 

spent for the benefit of those who pay them. 

3. That human affairs are not static and provision should 

be made for EVOLUTIONARY or FROGRESSIVE development. 

JInitially, and as soon as possible, a somewhat arbitrary 

appointment of non-whites, including blacks, should be made to 

the central legislative body, and even of one or two to the 

Cabinet if people of suitable ability and compatibility can be 

found . This must be done in anticipation of, and with a view to 

the progressive development towards, the following outline, which 

itsel¥ should be regarded as a stage in further progressive 

development . 

There should be a main, or central, legislative body, and of 

course a corresponding executive body (cabinet), to administer 

the whole of South Africa. This could possibly be a modified 

Fresident’s Council. This body should include representatives 

appointed by the White, Coloured and Indian parliaments, the 

governing bodies of the self governing Elack States, and by black 

or other groups not elsewhere accommodated. As an option the 

independant Bl ack States could also be accommodated 

conditionally. 

Allocation of seats to the different groups should be determined 

according to their ratings, calculated using a formula which 

gives major importance to the group’s NET contribution (positive 

or negative) to the State coffers, i.e. its total contribution 

to the central government’s revenue minus expenditure by the 

central government for the group’s direct benefit. Al though 

total numbers in the group should have some bearing, the 

proportion of group members with a "second vote" (see below) 

should have much greater influence. I also suggest a penalty 

factor based on population growth within the group and, 1f 

possible, a factor based on the group’s political and economic 

stability. 

No group should be unrepresented in the central legislative body, 

no matter what its formula rating may be. 

The possibility should not be ruled out of people such as, for 

example the HNF or the Conservative Farty, electing to form a 

group to be accommodated under "....... groups not elsewhere 

accommodated" . 

In addition, further members of the legislative body should be 

elected by individual voters, of whatever group, who qualify for 

a vote on a COMMON ROLL. Minimum qualification for this "second 

vote" should include, in a combined formula, net contribtution to 

State revenue (e.g. income tax paid), education standard and 

type, value of property owned, etc. 1 also suggest a penalty 

factor based on the individual’s contribution to the population 

growth and, if practical, a character factor should be included. 
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" The system is illustrated diagramatically in Annexure ‘At 

Weighting of all representatives should be such as to retain 

control in the hands of responsible and productive people of 

whatever group or race, while yet maintaining a fair distribution 

of rights and benefits, and providing an open "ladder" to allow 

ANYONE to reach the required level of qualification for the 

"second vote", or for groups to qualify for improved 

representation. 

Al11 representatives should be required to qualify for the 

"second" vote and, if considered practical or wise, 

representatives elected by those with a second vote could 

constitute an upper house. 

With regard to the "ladder" in the previous paragraph but one, I 

propose that special courses be provided, at Correspondence 

Schools, Technikons etc., and special examination be set from 

time to time, to enable individuals who do not qualify for the 

vote under the formula to do so if they wish by passing an 

examination. Such courses and examinations should place great 

emphasis on basic economics, state economies, the nature of 

money, trade,production and distribution of wealth, etc., so that 

people who obtain the vote in this way will have a better 

knowl edge of the problems of government. 

It should be borne in mind that people who obtain the vote by 

passing one of these examinations D0 NOT OTHERWISE QUALIFY, and 

so the standard of the examinations could Justifiably be 

relatively high. 

Eecause much of the structure already exists this system could be 

implemented in a relatively short time, and at relatively low 

cost, by grafting it onto the existing structure, as opposed to 

the 1long drawn out process of negotiating a complete new system 

(with whom? - see the second paragraph of this proposal). 

In addition, negotiations for further progressive development 

could begin within the system, among the properly elected 

representatives of the various groups, almost immediately after 

the system comes into operation. Such negotiations would gain 1in 

value and significance as the representatives gained 

understanding of, and experience in the problems of government, 

and the intricacies and principles of negotiation (refer again %o 

the second paragraph of this proposal). 

It may be that, after a period of operation, this system is 

accepted as permanent and that further progressive development 

takes place within its framework. On the other hand, a complete 

new approach may evolve through negotiation. In either case the 

evolutionary process should be relatively smooth, causing minimum 

disruption to the all-important economic life of the country and, 

most important, ALL would in the meantime be represented 1n 

central government. 

The concept of merit is rightly inherent in this proposal, but no 

system can be really successful unless it is tempered by 

Christian principles (by whatever name these may be called). The 

system should be developed, introduced and administered in a 

spirit of honour, integrity, Justice, equity and good value. 

Justice 1s implied in the concept of reward on pure merit. 
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Equity 1is implied in the tempering of Justice throuuan  eniency 

toward, and assistance of, those who do not make the grade i1n the 

merit rating, 1.e. the so-called underprivileged - a principle 

already inherent 1n our South African system and way of life. 

Put in another way, "The labourer is worthy of his reward". 1 

Timothy S:18) implies Justice. "As you would that men should do 

to you, do ye also to them likewise" (Luke 6:31) implies equity. 

All this refers only to parliamentary representation, but similar 

principles should be applied in other areas. 

For example, there should be the right for ALL, within normal 

parameters, to sell their labour, abil 1ties or products, on 

merit, where they choose, but this right must carry concomitant 

responsibility. 

Similarly, ALL should have the right, again, within normal 

parameters, to live where, and among whom, they choose, and can 

afford. This right must also carry concomitant responsibility, 

AND' MUST NOT INTRUDE ON THE RIGHTS OF OTHERS. 

There is much scope for negotiation within this broad outline, 

and I suggest specially selected non-whites be brought 1in to 

assist in drawing up the details. Such people should be chosen 

for their appropriate knowledge, abilities and character, and 

the selection should be made in the spirit of the five points 

quoted above - honour, integrity, Justice, equity and good value. 

  

ANNEXURE 
  

  

CABINET. 
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MAIN LEGISLATIVE BODY. | 

Possibly a modified l 

- 

      

  

President's Council.     

  

  

  

      
    
  

~ 
~ 

— . 

. White Coloured Indian Self-govermnq Blacks or groups 

. Parliament. Parliament Parliament. Black States. not elsewhere [Black States. 

! L accommodated. | | _ _ _ _ __ 

» Voters from all groups with a second 

QUALIFIED VOTE, based on tax 

contributions, education standard, 

value of property owned etc. 
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6 Elvira Place 
Pascal Grave 
Austerville 
DURBAN 
4052 

16 January 1995 

The Executive Officer 
Constitutional Assembly 

P O Box 15 
CAPE TOWN 
8000 

Sir/Madam 

POSAL T IN IN DRAWI P OF T NSTITUTI 

My name is Shaun Stuart and | would like to make the following submission which 

| hope will be entrenched in the Constitution of our country. Recently I've heard 

particular political parties say that they would favour some kind of "power-sharing” 

after the Syrs of the GNU have expired. Well, | would vehemently like to oppose 

the afore-mentioned idea. Infact, | would strongly like to see SIMPLE MAJORITY 

RULE after the 1999 General Elections. My reasons for demanding this are because 

at present the GNU Cabinet has Cabinet Ministers who are from parties who lost 

the ‘94 Elections and yet hold powerful and instrumental positions in 

GOVERNMENT. | also believe that these same Cabinet ministers and their 

departments are hindering the government from moving forward in ALL government 

departments. 

Generally, | feel that if we (SA) are to be a TRUE DEMOCRACY then, when we 

the electorate make our voices heard then we expect a GOVERNMENT made up of 

the party that won the ELECTIONS ie. the party that obtained the most voter be it 

by 1% or a 40% majority over the other parties. 

| do realise that the GNU was a compromise which had to be done but after these 

Syrs have passed, | can see absolutely NO REASON why we South Africans should 

be denied having true MAJORITY RULE. It we be quite unacceptable to the majority 

of all South Africans if key positions such as WELFARE and HOME AFFAIRS should 

be placed under the control of parties which failed to gain a mandate from the 

people of SA in so far as the number of votes they obtained being inconsequential! 

In conclusion, | would just like to reiterate my submission, that "SIMPLE 
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MAJORITY RULE" be gntrenched in the CONSTITUTION. Also, there must be 1 
DEPUTY President from the party that won the GENERAL ELECTION. 

| hope that the above-mentioned proposals will be included in the constitution. 

Yours sincerely 

Mr S G Stuart 
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CONSTITUTIONAL TOWARDS A NEW CONSTITUTION Assmgg«w“ N ST 

09 Fep 1998ome Suggestions *  6th February 1995 

The Constitution shall embody the rights of future generations to inherit a healthy 

environment. To this end a Council for Posterity shall be set up, charged with speaking 

publicly and in the legislature on behalf of future generations of South Africans. 

Every child has the right to care, protection and education. 

Women shall be have rights equal to those of men in all areas of life. 

All shall have thé freedom to speak, associate and worship as they wish, provided that they 

do not do so in order to cause offence or injury to others. 

Women shall have the right to choose abortion up to a certain fetal age, that age to be 

decided after debate between doctors, women's representatives, religious leaders and other 

relevant parties. 

Citizens shall not have the right to carry guns or any other lethal weapons unless under 

specific (short-term) licence to do so from the relevant authority. 

The nation shall be committed to a path of non-aggression with regard to other nations 

and its defence policy shall be solely oriented to defence. 

The nation shall not commit its troops or other human resources to active combat in any 

other country without first securing a mandate from the people by means of a referendum. 
This does not apply if South Africa is invaded first. 

Decision-making powers shall always be devolved to the lowest tier of government 

consistent with maintaining adequate levels of competence. 

Citizens shall have the right to call a referendum on the basis of "x" number of signatures 

appended to a proposal. This shall be true at national and local tiers of government 

Elected representatives at national or local government level may be recalled by their 

electorate by means of a motion to which "x" number of signatures are appended. 

Peter Willis and Diane Salters 
15 Disa Road, Murdock Valley North, Simon's Town 7995. 

Tel: (021) 786 1910 Fax: (021) 786 1887 
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KORSMAN & VAN WYK 
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- ASSEMBLY 

17 FEB 1985 L 

Voorlegging aan Temakomitee | : Demokrasie 

Hiermee ingeslote in voorlegging aan die Grondwetgewende Vergadering ten opsigte van 

Temakomitee | : Demokrasie. 

Die voorlegging is kernagtig maar uitgebreide inligting is by navrae beskikbaar. 

Die uwe 
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Theme Committee 1 

Democracy 

Eben van Wyk TRP(SA) 

BSc(TRP) MBA MITC 

Introduction 

Elementary to democracy is the universal adult suffrage. 

It seems that there are only tow basic alternatives available for South Africa, namely: 

- Electorial divisional representation 

- Proportional representation 

Both alternatives have their strong and weak points. The future democracy of South Africa 

should capitalise on the strong points and it must avoid the weak points of both alternatives. 

Electorial Division 

The strong points of this system are: 

(i) Elected representatives represent a certain people. 

(i) The electorate can elect capable independent persons. 

(i) Representatives can challenge their political party and change parties. 

(iv) A "personalized™ relationship between the representative and his/her constituency. 

(v) Bottom-up system of Government. 

The weak points are: 

(i) Winner takes all. 

(ii) Minority interests not represented. 

(i) Administration of voter’s rolls and thus elections are expensive. 

Proportional representation 

The strong points are: 

(i) Represent an balanced view of society. 

(i) Minority groups/view points represented. 

(iii) Relatively inexpensive due to the fact. No voters roll is required. 
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The weak points of this system are: 

(i) Representatives are responsible for everybody, nobody? 

(i) Representatives are centrally nominated, ignoring local needs and aspirations. 

(iii) How democratic is the names of the candidates on the proportional list constituted? 

(iv) Top-down system of government. 

Proposal: Proportional per division 

This proposal entails that representatives are elected per electorial division on a proportional 

basis. This means that a number of persons will represent a division namely either: 

(i Those candidates that secured a certain % of the votes cast e.g. 17% or 20% of the 

total, or 

(ii) The three or four candidates with the biggest number of votes. 

The first alternative is more democratic but the number of members of Parliament will not be 

known in advance, while the last proposal is administratively more sound. 

The benefits of this proposal are: 

4.1 The electorate has the opportunity to elect amongst candidates from the same party. 

4.2 Representatives will be responsible for a specific geographical area. 

4.3 It is a bottom-up democracy, the people will elect their leaders. 

4.4 Voters rolls is not necessary which will make elections cheaper. 

Closing Remarks 

Proportional representation per electorial division is possible the closest to what true democracy 

is. It will ensure majority rule, minority interest will be met, while the interest of the total 

population in regards to current and political affairs will deepen. 
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Institute for advancement of human rights,democracy and individual 
right to mother tongue and own culture and land in S.A. V/ 
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« Public Proposal on the Proposed Constitution 

' 000792 _ CONSTITUTIONAL 
i ASSEMBLY 

02 FEB 1995 
1.Elections on Constituency Basis. 

2.Strong Regional Government. 

3.The Advancement of Cultures of Groupings in South Africa 
and the need for their Strong guaranteed survival. 

4.Punishment for racialism against whites by Government. 

S.Punishment of violence against whites and measures by govt. 
for its complete elimination. 

6.Scrapping of Affirmative action as a pillar of the Constitution. 

7.Exclusion of Nationalization,Socialism and Communism. 

8.Elimination of Bribery and kickbacks. 
Elimination of discrimination against white local expertise. 

9.Scrapping of the idea of a truth commission. 

10.Creation of Volkstaat,Whte,Indian,coloured,Zulu and tribal 
precincts,regions and provinces. 

11.The S.A.B.C. and the Media. 6ww CWTOARS, NY (OMTMLAL BlainwasHiNC- 

12. lomism—y  ViliLAmcz ACaimsT commuPTeny By Avo\T 

lomm . Tec, 

12 Veunwiers oF fotiTic s PO TULIT Ry AN LAGIBSED 

Tuoitian Jv sTEm™ NOT SwAaven £y meney o fm.-.—rmg 

premcs, 

16 . STRcT tenikor  of Jeret AL | MM RANTS.  Flom AFRICA 
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Public Proposals on the proposed Comstitution. 
  

1.Elections to be on a constituency basis.Candidates elected on merit 

and not necessarily on party affiliation.Electeq persons are 

answrable to constituents,with report back meetings and 

monitoring commitees of ratepayers,to prevent fraud,inefficiency, 

corruption and special priviledges through inside information. 

  

2.Regional Government to be fully implemented.lhe regions and local 

structures are better able to look over local interests than 

officials at distant Central Government offices in Pretoria. 

3.There are several distinct populations in South Africa who have 

E3_BE_E3TE?EH_?E?_EETTT?EEEga2EB_BGE_EGI?GFETTEEEEEEET;eligipn, 
étc.Seeing as the skills of the more advanced groups are vital 
to advance the Black African groupings ,who are undoubtedly,as 
a whole,undeveloped,it is vital to allow for the culfiral integrity 
of the former.They must not be submerged by the sheer weight of 
Black African Numbers and hence their representation as a majority 
in all elected structures. 
Racialistic,unrealistic,illogical,greedy, jealous,corrupt,vindictive 
decisions are definitely going to be made by Black African politicic 
because of the easy way they can come into positions of power, 
lack of proper control by inexperienced chauvinistic Black African 
parties and politicianms. 
Even violence by Black African individuals and criminals from all 
levels of society is not being dealt with properly ,by the A.N.C. 
in particular,because of their great chauvinistic sympathy with 
their fellow blacks,who they see as justified in expressing their 
feelings against whites in particular,for the fact that Blacks are 
at the bottom of the heap in this country,and in the world in 
general. Ignorant,primitive,bigoted violent,thecriminal,the 

e mad_are having a field day in the A.N.C. new S. 
4.%25%§393§§fl§ g%dBE?Racialistic sta%ements by A%N.C. politicians 

against whites must be subject to extrem¢punishment in lLaw.The same 
goes for media racialism. 

  

  

5.The killing of White policemen,the white elderly,white farmers in 
isolated areas,and in fact indiscriminate killing of whites by 
Black criminals must be subject to the most severe punishment 
ossible.The Death Penalty must be reinsti 

intense drive by the A.N.C. Government to eradicate this kind of 
i i .NO MATTER THE PAST,AND IN VIEW OF 

THE FACT THAT IT HAS NOT BEEN PROVEN THAT THE LOT OF THE BLACK 
AFRICAN IS NOT LARGELY OF HIS OWN MAKING,IT IS HIGHLY UNJUST AND 
SELF-DEFEATING FOR NELSON MANDELA AND THE A.N.C.TO HAVE TAKEN A 
LUKE WARM APPROACH TO THIS MATTER,AND FOR POLITICAL REASONS NOT 
TACKLING IT STRONGLY AND EFFECTIVELY. 
The true fact is that most whites are the salt of the earth.It 
is also true that Black Africans failed to advance themselves as 
did the Indians for example.It is easy to blame all their failings 
on the whites,but this is not going to achieve advancement for : 
Black South Africans.Instead what they will achieve is descent 
of S.A. to anarchy and chaos and poverty. 
The white Afrikaans farmer is a rare hardy breed who is the back- 
bone of this country.For the A.N.C.Government to allow Black 
criminals to carry on their vendetta against them,is indeed looking 
for troubled times in this country. 
THE CONSTITUTION MUST SEE THAT THIS STATE OF AFFAIRS IS ELIMINATED 
AND G.N.U.MUST ACT NOW!!!! 
Similarly the degradation of policemen MUST BE STOPPED BY THE G.N.U. 
TO prevent the descent of S.A.into chaos,where a new Constitution 
will become an unworkable white elephant. 
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6. Affirmative action must be scrapped as apillar of the Comstitution 
  
or Government policy.lt is not necessary,in view of the prpond- 

derance of Blacks in all elected structures.This will inevitably 

shift all scales in favour of Blacks.To also add affirmative actio 

is shifting the scales against the the more advanced Whites , 

Coloureds and Indians,in what amounts to racialism. 

WHAT MUST BE CLEAR IF S.A. IS NOT TO DESCEND TO THE POVERTY 

LEVELS OF AFRICA IS:- 
(a) The whites have built Systems and structures,which if 

maintained,will carry Black South Africa into prosperity. 

(b) Their is no hope of doing this,if white systems are submerge 

by foolish,extreme,and racialistic application of affirmativ 

action. 
(c) Blacks must accept what they are and where they stand and 

that only they can lift themselves up by their bootstraps. 

They cannot ride on the back of the whites,coloureds and 

Indians.The encouragement of the advancement of the more 

advanced groups,will in fact ensure that Black South Africa 

will have a chance of entering the modern world. 

(d) There are no shortcuts.The illusion has been created by the 

A.N.C. and S.A.C.P.,COSATU, that whites have stolen their 
priviledge from Blacks.This is blatantly untrue. 
They carried in their genes and European Culture. 
For Black politicians to think that they can steal advanceme 

by corruption,fraud,by awarding themselves priviledges, 

high salaries and status is an illusion which will be short- 
lived.Opportunities denied uner Apartheid will partially upl 

The fact is that they do so in a manner which is harmful to 
Blacks at grass roots.They do so in violation of their 
stated aim of uplifting poor,backward Blacks. 
Black politicians must accept their limitations and limit 
their salaries on a merit rating system. 

(e) To .allow chaos in Universities ,hospitals,schools,army and 
police is asign that the G.N.U. is not yet aware of its 
responsibility with regard to affirmative action. 

It is simply not adviseable or acceptable that thePresident 
or Constitution can be soft on these issues because they 
sympathise entirely with affirmative action and the 
probably false and flawed reasoning behind it, 

  

  

7.Nationalisation,Communism,Socialism. 
The Soviets and the N.P. demonstrated the corruption and damage 
they can do.The A,N.C. is already demonstrating the same. 
They lead to jobs for incompetent pals,affirmative action,begging 
for handout from liberal and socialistic governments overseas, 
unrealistic and pie in the sky schemes and vagueness.The unscrupulc 
benefit,not the masses,and S.A. suffers. 
Excessive rhetoric will not save the A.N.C. Government, it only 
distorts the truth about the realities of S.A. and the eventual 
letdown whenrealities have to be faced damages confidence in this 
country. 

8.Local expertise to be used where possible.It must be illegal for 
Black politicians to hire from overseas because they are intent 
on disciminating against local whites. 

Similarly the African practice of Bribery and kickbacks must be 
banned by law,for the damage it can do to this country. 

The A.N.C. has maligned the whites in its propaganda.It will rue 
the day it did so.S.A.whites are generally the salt of the earth. 
It is their birthright and they have the best interests of the 
country at heart.For the A.N.C. to pretend that this is not so is 
a myth and grave mistake.Foreigners will not promote Black S.A. 
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9.The idea of a truth commission must be scrapped.If crimes commited 

by both sides cannot be handled by the law because they were 

commited for political reasons then there is no point in proceeding 

with the idea. 
The A.N.C. claim that their reasons for revolution are unquestionable 

and that whites are to blame. 
This is certainly not true- . 

The A.N.C.must look inwards with courage and admit that part of 

the reason for the Black subsevient position is historical,genetic 

and cultural,without any ingredient of racialism.It simply 

happened as a natural development. o 

In nature strength often decides outcomes.The primitive Blacks were 

simply no match for the European culture.They easily fell intoplace 

as underlings,gnd often were greatful for this as it ensured their 

survival.They were mostly better off than if they had to subsist 

in Black economic systems. 
History is often harsh ,but through eternity human beings have had 

to accept its reality. 
The A.N.C. will have to look realistically at the realities of the 

white side of the argument.That the survival of the superior European 

culure was highly desirable as the best option in the face of submersic 

in Black culture. 
That all means necessary to maintain European Culture where necessary 

as a political goal.They were aserious matter of suvival and wellbeing 
of the country. 
That these political means were in fact successful and advanced the 
development of the country. 
That the Blacks did not of there own accord advance themselves as did 

the Indians for instance. 

The above being the case,there is a very strong case for considering 
the past actions of white governments as strictly political in the same¢ 
sense as those of the A.N.C. Cums s MUROGR was STRICTLY  founCAL. 

Violence on both sides had the same motivation and if that of theA.N.C. 
is condoned ,then so must that of the white governments. 

EMOTINAL FEELINGS HAVE BEEN WHIPPED UP BY THE A.N.C. AMONGST BLACKS. 
Their rhetoric has been to the effect that the Blacks are the goodies 
and the whites the baddies,and that recrimination and revenge is 
justified.This is atotal symplification of the position as above. 

THE TRUTH ABOUT THE TRUTH COMMISSION. 
It should never get off the ground. 
The majority of Blacks and Whites in this country were simply victims 
of historical and political circumstances.The Boers and British for 
instance probably saved the Black tribes of S.A. fromextinction by 
the Zulus. 
The Blacks have been lucky and have gained immeasurably from the 
coming of the whites.A.N.C. rhetoric merely pretends that the opposite 
is true.The graciousness of De Klerk and the present dispensation 
granted by the white government has saved black S.A. from centuries 
of further turmoil. 
Sinister forces are urging .the Truth Commission.Mostly this is urged , 
by on{Black;AfircanrNegroid A.N.C. members and racialistic Black 
extremists.Their views are radical and also often prompted by the 
hope that they can take the short cut to riches by suppressing the 
¥Rite$ so that_they can _advance themselves materially. : 

1s 1s the ugly face of the new S.A. The innocent(and Good whites, 
and those who were the victims of circumstances) as well as the whole 
of South Africa will be brought down in bitternmess,recrimination 

and witchhunts on the basis of non.recognition by the A.N.C. of any 
human rights in the white camp,while claiming to be angels and moral 
= _A.1,64; ~ o Sl UTT il o 7 
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10. The Volkstaat and White,Indian,Coloured,Zulu and tribal precincts. 
  

It is a wild gamble and risk to hope that a Black A.N.C. 

Government will after the G.N.U. be prepared to treat whites andthe 

others in an evenhanded manner.Their grassroots will also not allow 

this,seeing as they will be pushing for affirmative action and 

the flaws in the constitution ,listed above,will not be rctified 

because of inefficient politicians and government,and unwillingness 

to deny Black claims,because the alibi of the A.N.C. is that 

Blacks have been discriminated against by whites and that is why 

they have not advanced.Also Blacks who have been able to advance 

themselves under a jobs for pals or affirmative actionm will notbe 

prepared to give it up. i 

For this reason and by Murphies Law things will get worse for whites 

and minorities with time.(examples already,AlanBoesak,Peter Mokaba, 

Winny Mandela ---corruption: The rise of radicals in the A.N.C.) 

Seeing as the survival of European Culture and in fact its advancement 

is absolutely essential to all citizens of S.A.,the gamble cannot 

be taken on the threats listed above. 

The establishment of Volkstaats,European enclaves,Indian enclaves 

and Coloured enclaves must be instituted in the Constitution. 

The strengthening of the Zulu province must be maintained in the 

Constitution,and the coloured and white enclaves in the Western Cape 

encouraged by the Constitution.Other Black tribes must be allowed 

to develop their regions on a cultural basis if they desire and not 

be regimented into a Xhosa dominated A.N.C.culture. 

The Constitution must,if it is farsighted in its goals for S.A. 

definitely encourage these developments and not wait for these groupin 

to beg. 
The diversity of interests will also break a monopoly of one Black 

culture and strengthen Democracy in S.A.Prosperity in provinces,region 

and enclaves will contribute to S.A. prosperity. 

Groupings who feel threatened by uncontrollable violence against 

themselves,their property and their rights ,will have the security 

of their own enclaves,until the day that S.A. comes out of Anarchy 

and a modus vivendi can establish itself. 

If things never come right between the Blacks and other groupings 

then these groupings will have invested in their own enclaves and 

be assured to their own states in which they will be secure. 

11.The S.A.B.C. and the Media. 

The encouragement of the growth of European Culure in S.A.is 
a $ood‘th1ng;see above.Cultural diversity is probably also a good 
thln% in the light of the realities of South Africa. 

Gy Ane  MEUT TRAmaev. THaN S o poumcd, opacacon b seamwasei 

However the A.N.C. Government has embarked on a polic i 
action iv the S.A.B.C. and Media,however surreptgou51§ ;i ggi;rmatlve 
about this.The result has been a more African Negroid culture creeping 
in or an attempt to integrate,nonracialize,Africanize the various 
cultu;es.Thls is not the way to ensure the cultural survival of aall 
groupings.IT IS BIATANTLY CLEAR THAT EACH CULTURE WILL HAVE TO HAVE 
ITS OWN RADIO AND TV STATIONS AND NEWSPAPERS TO SURVIVE.Many of the 
Black tribal Cultures wil i i A T T 
The concepts in 10 will fit in well with this.The i h 0 n i & regions for the 
minority groupings will have TV Radio and newspapers which willensure 
c?ltural surY1v31 and will not be forced by the S.A.B.C./Govt.to 
dissolve their cultures into African culture or American Negro culture 
bothe of which they find inferior. 
17, AN CLTAA- STYRier  AUS T ChLamiT AR, REYT fv GU—Sin: 
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